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Topic:­ English
1)

Question Stimulus :­

Fill in the blank with the correct option.

The cakes _____ready soon. They’ve been in the oven for an hour.

can be

must be

mustn’t be

need be

Correct Answer :­must be 

2)

Question Stimulus :­

Fill in the blank with the correct option.

Children _____look after their parents in old age.

can

could

ought to

ought not to

Correct Answer :­ought to 

3)

Question Stimulus :­

Fill in the blank with the correct option.

We ______ locked the gate. Then the dog wouldn’t have got out.

can have



need not have

ought to have

could not have

Correct Answer :­ought to have 

4)

Question Stimulus :­

Fill in the blank with the correct preposition.

The President called on the wealthy countries_____ financial aid after the floods
destroyed much of the country's agriculture.

by

at

in

for

Correct Answer :­for 

5)

Question Stimulus :­

Fill in the blank with the correct preposition.

The crowd backed _____when the man pulled a knife.

towards

with

away

forward

Correct Answer :­away 

6)

Question Stimulus :­

Fill in the blank with the correct preposition.



She backed out of the agreement_____ the last minute.

at

from

for

in

Correct Answer :­at 

7)

Question Stimulus :­

Fill in the blank with the correct preposition.

He sat______ me______ discuss the problem.

beside, to

besides, to

with, for

behind, to

Correct Answer :­beside, to 

8)

Question Stimulus :­

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: lf there is no error, mark
your answer as ‘No error’.

A idle brain

is the

devil's workshop.

No Error

Correct Answer :­A idle brain 

9)

Question Stimulus :­



DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: lf there is no error, mark
your answer as ‘No error’.

Nile is longer than

any other

river in the world.

No Error

Correct Answer :­Nile is longer than 

10)

Question Stimulus :­

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: lf there is no error, mark
your answer as ‘No error’.

He graduated

with an second­class honors

degree in physics.

No Error

Correct Answer :­with an second­class honors 

11)

Question Stimulus :­

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: lf there is no error, mark
your answer as ‘No error’.

Have there ever

been a war

in the United States?

No Error

Correct Answer :­Have there ever 

12)



12)

Question Stimulus :­

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: lf there is no error, mark
your answer as ‘No error’.

Democratization have brought workers

the right to strike

and join a trade union.

No Error

Correct Answer :­Democratization have brought workers 

13)

Question Stimulus :­

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: lf there is no error, mark
your answer as ‘No error’.

Unless Mohan takes

proper care of his health,

he will not recover.

No Error

Correct Answer :­No Error 

14)

Question Stimulus :­

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: lf there is no error, mark
your answer as ‘No error’.

The bird would have

died if you

had caught it.

No Error



Correct Answer :­No Error 

15)

Question Stimulus :­

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: lf there is no error, mark
your answer as ‘No error’.

My Parents and relatives will come to pick you

as soon as

you will reach Mumbai airport.

No Error

Correct Answer :­you will reach Mumbai airport. 

16)

Question Stimulus :­

Out of the given options, choose the one which is the correct indirect speech of the
sentence given below.

Nelson said, “I was playing cricket”.

Nelson said that he had been playing cricket.

Nelson said that he has been playing cricket.

Nelson said that he have been playing cricket.

Nelson said that he was playing cricket.

Correct Answer :­Nelson said that he had been playing cricket. 

17)

Question Stimulus :­

Out of the given options, choose the one which is the correct indirect speech of the
sentence given below.

The teacher said to his students, “Did you not like my story yesterday?”

The teacher asked his students if they did not like his story yesterday.

The teacher asked his students if they did not like his story the day before.



The teacher asked his students if they had not liked his story the day before.

The teacher asked his students if they have not liked his story the day before.

Correct Answer :­The teacher asked his students if they had not liked his story the
day before. 

18)

Question Stimulus :­

Out of the given options, choose the one which is the correct indirect speech of the
sentence given below.

Peter said “Alas! I have broken my brother’s watch”.

He exclaimed sorrowfully that he has broken his brother’s watch.

He exclaimed sorrowfully that he have broken his brother’s watch.

He exclaimed sorrowfully that he had broken his brother’s watch.

He exclaimed sorrowfully that he had broke his brother’s watch.

Correct Answer :­He exclaimed sorrowfully that he had broken his brother’s watch. 

19)

Question Stimulus :­

Out of the given options, choose the one which is the correct active voice of the
sentence given below.

Are stories written by you?

Do you write stories?

Did you write stories?

Have you written stories?

Are stories being written by you?

Correct Answer :­Do you write stories? 

20)

Question Stimulus :­

Out of the given options, choose the one which is the correct active voice of the
sentence given below.



A cup of coffee was brought to me by her.

She is bringing me a cup of coffee.

She brings me a cup of coffee.

She brought me a cup of coffee.

She was bringing me a cup of coffee.

Correct Answer :­She brought me a cup of coffee. 

21)

Question Stimulus :­

Out of the given options, choose the one which is the correct active voice of the
sentence given below.

Grammar is taught to us by the teacher.

The teacher teaches us grammar.

The teacher is teaching us grammar.

The teacher has taught us grammar.

The teacher taught us grammar.

Correct Answer :­The teacher teaches us grammar. 

22)

Question Stimulus :­

Fill in the blank with the correct option.

We've been having ______problems with the new computer.

a little

little

the little

a few

Correct Answer :­a few 

23)



Question Stimulus :­

Fill in the blank with the correct option.

Could you please pour ______ milk in my cup?

few

a few

little

a little

Correct Answer :­a little 

24)

Question Stimulus :­

Fill in the blank with the correct option.

The government has done _____or nothing to help the poorest people in this country.

little

a little

the little

few

Correct Answer :­little 

25)

Question Stimulus :­

Fill in the blank with the correct option.

We have______ money, so we cannot pay for the farewell party.

few

the little

a little

little



Correct Answer :­little 

26)

Question Stimulus :­

DIRECTIONS: Read the following passage carefully and answer the following questions.

The history of literature really began long before man learnt to write. Dancing was the
earliest of the arts. Man danced for joy round his primitive camp fire after the defeat
and slaughter of his enemy. He yelled and shouted as he danced and gradually the yells
and shouts became coherent and caught the measure of the dance and thus the first
war song was sung. As the idea of God developed prayers were framed. The song and
prayer became traditional and were repeated from one generation to another, each
generation adding something of its own.

As man slowly grew more civilised he was compelled to invent some method of writing
by three urgent necessities. Then were certain things that it was dangerous to forget
and which, therefore, had to be recorded. It was often necessary to communicate with
persons who were some distance away and it was necessary to protect one’s property
by making tools cattle and so on, in some distinctive manner. So man taught himself to
write and having learned to write purely for utilitarian reasons he used this new
method for preserving his war songs and his prayers. Of course, among these ancient
people, there were only a very few individual who learned to write, and only a few
could read what was written.

 

What does the word ‘slaughter’ mean?

Victory

Return

Killing

Unity

Correct Answer :­Killing 

27)

Question Stimulus :­

DIRECTIONS: Read the following passage carefully and answer the following questions.

The history of literature really began long before man learnt to write. Dancing was the
earliest of the arts. Man danced for joy round his primitive camp fire after the defeat
and slaughter of his enemy. He yelled and shouted as he danced and gradually the yells
and shouts became coherent and caught the measure of the dance and thus the first
war song was sung. As the idea of God developed prayers were framed. The song and
prayer became traditional and were repeated from one generation to another, each
generation adding something of its own.



As man slowly grew more civilised he was compelled to invent some method of writing
by three urgent necessities. Then were certain things that it was dangerous to forget
and which, therefore, had to be recorded. It was often necessary to communicate with
persons who were some distance away and it was necessary to protect one’s property
by making tools cattle and so on, in some distinctive manner. So man taught himself to
write and having learned to write purely for utilitarian reasons he used this new
method for preserving his war songs and his prayers. Of course, among these ancient
people, there were only a very few individual who learned to write, and only a few
could read what was written.

 

What would be the most appropriate title of the passage?

The various forms of music and dance.

The outline of literature.

History of civilization.

None of the above.

Correct Answer :­The outline of literature. 

28)

Question Stimulus :­

DIRECTIONS: Read the following passage carefully and answer the following questions.

The history of literature really began long before man learnt to write. Dancing was the
earliest of the arts. Man danced for joy round his primitive camp fire after the defeat
and slaughter of his enemy. He yelled and shouted as he danced and gradually the yells
and shouts became coherent and caught the measure of the dance and thus the first
war song was sung. As the idea of God developed prayers were framed. The song and
prayer became traditional and were repeated from one generation to another, each
generation adding something of its own.

As man slowly grew more civilised he was compelled to invent some method of writing
by three urgent necessities. Then were certain things that it was dangerous to forget
and which, therefore, had to be recorded. It was often necessary to communicate with
persons who were some distance away and it was necessary to protect one’s property
by making tools cattle and so on, in some distinctive manner. So man taught himself to
write and having learned to write purely for utilitarian reasons he used this new
method for preserving his war songs and his prayers. Of course, among these ancient
people, there were only a very few individual who learned to write, and only a few
could read what was written.

 

Before the invention of writing, in what form literature existed?

In stories and legends



In Dancing and singing

In yells and prayers

None of the above

Correct Answer :­In Dancing and singing 

29)

Question Stimulus :­

DIRECTIONS: Read the following passage carefully and answer the following questions.

The history of literature really began long before man learnt to write. Dancing was the
earliest of the arts. Man danced for joy round his primitive camp fire after the defeat
and slaughter of his enemy. He yelled and shouted as he danced and gradually the yells
and shouts became coherent and caught the measure of the dance and thus the first
war song was sung. As the idea of God developed prayers were framed. The song and
prayer became traditional and were repeated from one generation to another, each
generation adding something of its own.

As man slowly grew more civilised he was compelled to invent some method of writing
by three urgent necessities. Then were certain things that it was dangerous to forget
and which, therefore, had to be recorded. It was often necessary to communicate with
persons who were some distance away and it was necessary to protect one’s property
by making tools cattle and so on, in some distinctive manner. So man taught himself to
write and having learned to write purely for utilitarian reasons he used this new
method for preserving his war songs and his prayers. Of course, among these ancient
people, there were only a very few individual who learned to write, and only a few
could read what was written.

 

What will be the synonym of the word ‘utilitarian’?

Useless

Useful

Harmful

None of the above

Correct Answer :­Useful 

30)

Question Stimulus :­

DIRECTIONS: Read the following passage carefully and answer the following questions.



The history of literature really began long before man learnt to write. Dancing was the
earliest of the arts. Man danced for joy round his primitive camp fire after the defeat
and slaughter of his enemy. He yelled and shouted as he danced and gradually the yells
and shouts became coherent and caught the measure of the dance and thus the first
war song was sung. As the idea of God developed prayers were framed. The song and
prayer became traditional and were repeated from one generation to another, each
generation adding something of its own.

As man slowly grew more civilised he was compelled to invent some method of writing
by three urgent necessities. Then were certain things that it was dangerous to forget
and which, therefore, had to be recorded. It was often necessary to communicate with
persons who were some distance away and it was necessary to protect one’s property
by making tools cattle and so on, in some distinctive manner. So man taught himself to
write and having learned to write purely for utilitarian reasons he used this new
method for preserving his war songs and his prayers. Of course, among these ancient
people, there were only a very few individual who learned to write, and only a few
could read what was written.

 

What led to the invention of writing by man?

The need to record and communicate.

The need to rejoice

The desire to write more war songs

None of the above

Correct Answer :­The need to record and communicate. 

Topic:­ Hindi
1)

Question Stimulus :­

िनဂ茠िल ကखत ग退ကाशं को ानपवूᘀक पढ़कर उसके नीच ेिदय ेगय ेबက�िवक�옴ी 　�娀刀 नो ंम⨀ सही िवक�옴 का चयन
कर⨀।

िश⠀ा सा नही ंह,ै अिपत ुसा तक पက�चँन ेका एक साधन ह।ै हम बက�ो ंको केवल िशि⠀त बनान ेके उЀ帺ेĀ
स ेही िश⠀ा नही ंदते ेब ကဂ挰 हमारा उЀ帺ेĀ उ退䀀⨀ जीवन के िलए स⠀म बनाना ह।ै Ḁᴀो ंही हम इस त氄搄 को जान
लते ेह⼀Ā हम िश⠀ा के वा᐀Āिवक लက� स ेप̀रिचत हो जात ेह⼀Ā। बက�त स ेआधिुनक दशेो ंम⨀ यह सोचना फैशन हो
गया ह ैिक अमीर­गरीब, चतरु­मखूᘀ सबको िन:शဂु挰 िश⠀ा दकेर कोई भी समाज अपनी सब सम䙒Āाएँ सलुझा
सकता ह ैऔर एक प̀रपणूᘀ रा쁋Āᘀ का िनमाᘀण कर सकता ह ैपरंत ुयह काफी नही ंह।ै ऐस ेदशेो ंम⨀ हम⨀ अनके
िडఀीधारी नवयवुक बरेोजगार िदखाई पड़त ेह⼀Ā, ሀᄀोिँक व ेहाथ स ेकाम करन ेको हये दिॄ쁋Ā स ेदखेन ेलगत ेह⼀Ā।
इस प̀र　�ကे� म⨀ हम⨀ अपनी िश⠀ा­က䀀व蠀舀था पर पनुिवᘀचार करन ेकी बड़ी भारी आव帺Āकता ह।ै इतना काफी नही
ह ैिक िश⠀ा की तो က䀀व蠀舀था पहल ेिमल,े उस ेचनु िलया जाय अथवा अपनी परुानी िश⠀ा က䀀व蠀舀था को चाल ूरखा
जाय, िबना इस बात की परी⠀ा िकय ेऔर दखे ेिक यह वा᐀Āव म⨀ उपयᄀुԀ ह ैअथवा नही।ं 

िश⠀ा का उЀ帺ेĀ ह­ै



गरीबी िमटाओ

जीवन के िलए स⠀म बनाना

िन:शဂु挰 िश⠀ा

बरेोजगारी को दूर करना

Correct Answer :­जीवन के िलए स⠀म बनाना 

2)

Question Stimulus :­

िनဂ茠िल ကखत ग退ကाशं को ानपवूᘀक पढ़कर उसके नीच ेिदय ेगय ेबက�िवक�옴ी 　�娀刀 नो ंम⨀ सही िवक�옴 का चयन
कर⨀।

िश⠀ा सा नही ंह,ै अिपत ुसा तक पက�चँन ेका एक साधन ह।ै हम बက�ो ंको केवल िशि⠀त बनान ेके उЀ帺ेĀ
स ेही िश⠀ा नही ंदते ेब ကဂ挰 हमारा उЀ帺ेĀ उ退䀀⨀ जीवन के िलए स⠀म बनाना ह।ै Ḁᴀो ंही हम इस त氄搄 को जान
लते ेह⼀Ā हम िश⠀ा के वा᐀Āिवक लက� स ेप̀रिचत हो जात ेह⼀Ā। बက�त स ेआधिुनक दशेो ंम⨀ यह सोचना फैशन हो
गया ह ैिक अमीर­गरीब, चतरु­मखूᘀ सबको िन:शဂु挰 िश⠀ा दकेर कोई भी समाज अपनी सब सम䙒Āाएँ सलुझा
सकता ह ैऔर एक प̀रपणूᘀ रा쁋Āᘀ का िनमाᘀण कर सकता ह ैपरंत ुयह काफी नही ंह।ै ऐस ेदशेो ंम⨀ हम⨀ अनके
िडఀीधारी नवयवुक बरेोजगार िदखाई पड़त ेह⼀Ā, ሀᄀोिँक व ेहाथ स ेकाम करन ेको हये दिॄ쁋Ā स ेदखेन ेलगत ेह⼀Ā।
इस प̀र　�ကे� म⨀ हम⨀ अपनी िश⠀ा­က䀀व蠀舀था पर पनुिवᘀचार करन ेकी बड़ी भारी आव帺Āकता ह।ै इतना काफी नही
ह ैिक िश⠀ा की तो က䀀व蠀舀था पहल ेिमल,े उस ेचनु िलया जाय अथवा अपनी परुानी िश⠀ा က䀀व蠀舀था को चाल ूरखा
जाय, िबना इस बात की परी⠀ा िकय ेऔर दखे ेिक यह वा᐀Āव म⨀ उपयᄀुԀ ह ैअथवा नही।ं 

 

िन:शဂु挰 िश⠀ा स ेሀᄀा हािन ह?ै

अनके यवुक बरेोजगार रहत् ेह⼀Ā

हाथ स ेकायᘀ करन ेम⨀ बरुा मानत ेह।ै

उपरोᄀԀ दोनों

इनम⨀ स ेकोई नहीं

Correct Answer :­हाथ स ेकायᘀ करन ेम⨀ बरुा मानत ेह।ै 

3)

Question Stimulus :­

िनဂ茠िल ကखत ग退ကाशं को ानपवूᘀक पढ़कर उसके नीच ेिदय ेगय ेबက�िवक�옴ी 　�娀刀 नो ंम⨀ सही िवक�옴 का चयन
कर⨀।

िश⠀ा सा नही ंह,ै अिपत ुसा तक पက�चँन ेका एक साधन ह।ै हम बက�ो ंको केवल िशि⠀त बनान ेके उЀ帺ेĀ



िश⠀ा सा नही ंह,ै अिपत ुसा तक पက�चँन ेका एक साधन ह।ै हम बက�ो ंको केवल िशि⠀त बनान ेके उЀ帺ेĀ
स ेही िश⠀ा नही ंदते ेब ကဂ挰 हमारा उЀ帺ेĀ उ退䀀⨀ जीवन के िलए स⠀म बनाना ह।ै Ḁᴀो ंही हम इस त氄搄 को जान
लते ेह⼀Ā हम िश⠀ा के वा᐀Āिवक लက� स ेप̀रिचत हो जात ेह⼀Ā। बက�त स ेआधिुनक दशेो ंम⨀ यह सोचना फैशन हो
गया ह ैिक अमीर­गरीब, चतरु­मखूᘀ सबको िन:शဂु挰 िश⠀ा दकेर कोई भी समाज अपनी सब सम䙒Āाएँ सलुझा
सकता ह ैऔर एक प̀रपणूᘀ रा쁋Āᘀ का िनमाᘀण कर सकता ह ैपरंत ुयह काफी नही ंह।ै ऐस ेदशेो ंम⨀ हम⨀ अनके
िडఀीधारी नवयवुक बरेोजगार िदखाई पड़त ेह⼀Ā, ሀᄀोिँक व ेहाथ स ेकाम करन ेको हये दिॄ쁋Ā स ेदखेन ेलगत ेह⼀Ā।
इस प̀र　�ကे� म⨀ हम⨀ अपनी िश⠀ा­က䀀व蠀舀था पर पनुिवᘀचार करन ेकी बड़ी भारी आव帺Āकता ह।ै इतना काफी नही
ह ैिक िश⠀ा की तो က䀀व蠀舀था पहल ेिमल,े उस ेचनु िलया जाय अथवा अपनी परुानी िश⠀ा က䀀व蠀舀था को चाल ूरखा
जाय, िबना इस बात की परी⠀ा िकय ेऔर दखे ेिक यह वा᐀Āव म⨀ उपयᄀुԀ ह ैअथवा नही।ं 

बက�ो ंको िकस उЀ帺ेĀ स ेिश⠀ा दी जाती ह?ै

नौकरी 　�ा縤Ā करन ेके िलए

अ☀ ेनाग̀रक बनन ेके िलए

िशि⠀त बनान ेके िलए

जीवन को स⠀म बनान ेके िलए

Correct Answer :­जीवन को स⠀म बनान ेके िलए 

4)

Question Stimulus :­

िनဂ茠िल ကखत ग退ကाशं को ानपवूᘀक पढ़कर उसके नीच ेिदय ेगय ेबက�िवक�옴ी 　�娀刀 नो ंम⨀ सही िवक�옴 का चयन
कर⨀।

िश⠀ा सा नही ंह,ै अिपत ुसा तक पက�चँन ेका एक साधन ह।ै हम बက�ो ंको केवल िशि⠀त बनान ेके उЀ帺ेĀ
स ेही िश⠀ा नही ंदते ेब ကဂ挰 हमारा उЀ帺ेĀ उ退䀀⨀ जीवन के िलए स⠀म बनाना ह।ै Ḁᴀो ंही हम इस त氄搄 को जान
लते ेह⼀Ā हम िश⠀ा के वा᐀Āिवक लက� स ेप̀रिचत हो जात ेह⼀Ā। बက�त स ेआधिुनक दशेो ंम⨀ यह सोचना फैशन हो
गया ह ैिक अमीर­गरीब, चतरु­मखूᘀ सबको िन:शဂु挰 िश⠀ा दकेर कोई भी समाज अपनी सब सम䙒Āाएँ सलुझा
सकता ह ैऔर एक प̀रपणूᘀ रा쁋Āᘀ का िनमाᘀण कर सकता ह ैपरंत ुयह काफी नही ंह।ै ऐस ेदशेो ंम⨀ हम⨀ अनके
िडఀीधारी नवयवुक बरेोजगार िदखाई पड़त ेह⼀Ā, ሀᄀोिँक व ेहाथ स ेकाम करन ेको हये दिॄ쁋Ā स ेदखेन ेलगत ेह⼀Ā।
इस प̀र　�ကे� म⨀ हम⨀ अपनी िश⠀ा­က䀀व蠀舀था पर पनुिवᘀचार करन ेकी बड़ी भारी आव帺Āकता ह।ै इतना काफी नही
ह ैिक िश⠀ा की तो က䀀व蠀舀था पहल ेिमल,े उस ेचनु िलया जाय अथवा अपनी परुानी िश⠀ा က䀀व蠀舀था को चाल ूरखा
जाय, िबना इस बात की परी⠀ा िकय ेऔर दखे ेिक यह वा᐀Āव म⨀ उपयᄀुԀ ह ैअथवा नही।ं 

समाज की सभी सम䙒Āाएँ दूर की जा सकती ह⼀Ā­

सभी को िशि⠀त कर

समाज का िवकास कर

अमीरो ंको िशि⠀त कर

गरीबो ंको िशि⠀त कर



Correct Answer :­सभी को िशि⠀त कर 

5)

Question Stimulus :­

िनဂ茠िल ကखत ग退ကाशं को ानपवूᘀक पढ़कर उसके नीच ेिदय ेगय ेबက�िवक�옴ी 　�娀刀 नो ंम⨀ सही िवक�옴 का चयन
कर⨀।

िश⠀ा सा नही ंह,ै अिपत ुसा तक पက�चँन ेका एक साधन ह।ै हम बက�ो ंको केवल िशि⠀त बनान ेके उЀ帺ेĀ
स ेही िश⠀ा नही ंदते ेब ကဂ挰 हमारा उЀ帺ेĀ उ退䀀⨀ जीवन के िलए स⠀म बनाना ह।ै Ḁᴀो ंही हम इस त氄搄 को जान
लते ेह⼀Ā हम िश⠀ा के वा᐀Āिवक लက� स ेप̀रिचत हो जात ेह⼀Ā। बက�त स ेआधिुनक दशेो ंम⨀ यह सोचना फैशन हो
गया ह ैिक अमीर­गरीब, चतरु­मखूᘀ सबको िन:शဂु挰 िश⠀ा दकेर कोई भी समाज अपनी सब सम䙒Āाएँ सलुझा
सकता ह ैऔर एक प̀रपणूᘀ रा쁋Āᘀ का िनमाᘀण कर सकता ह ैपरंत ुयह काफी नही ंह।ै ऐस ेदशेो ंम⨀ हम⨀ अनके
िडఀीधारी नवयवुक बरेोजगार िदखाई पड़त ेह⼀Ā, ሀᄀोिँक व ेहाथ स ेकाम करन ेको हये दिॄ쁋Ā स ेदखेन ेलगत ेह⼀Ā।
इस प̀र　�ကे� म⨀ हम⨀ अपनी िश⠀ा­က䀀व蠀舀था पर पनुिवᘀचार करन ेकी बड़ी भारी आव帺Āकता ह।ै इतना काफी नही
ह ैिक िश⠀ा की तो က䀀व蠀舀था पहल ेिमल,े उस ेचनु िलया जाय अथवा अपनी परुानी िश⠀ा က䀀व蠀舀था को चाल ूरखा
जाय, िबना इस बात की परी⠀ा िकय ेऔर दखे ेिक यह वा᐀Āव म⨀ उपयᄀुԀ ह ैअथवा नही।ं 

हम⨀ अपनी िश⠀ा­ က䀀व蠀舀था पर ሀᄀा करना चािहए?

पनुिवᘀचार

पनुिमᘀलन

आघात

इनम⨀ स ेकोई नहीं

Correct Answer :­पनुिवᘀचार 

6)

Question Stimulus :­

िनဂ茠िल ကखत काက䀀ाशं को ानपवूᘀक पढ़कर उसके नीच ेिदय ेगय ेबက�िवक�옴ी 　�娀刀 नो ंम⨀ सही िवक�옴 का चयन कर⨀।

 

र 　�सिवनी ह ैवसधुा, अब समझ सका ⬀।ँ

इसम⨀ सက�ी समता के दान ेबोन ेह⼀Ā,

इसम⨀ जन की ⠀मता के दान ेबोन ेह⼀Ā,

इसम⨀ मानव ममता के दान ेबोन ेह⼀Ā,

िजसस ेउगल सक⨀ िफर धलू सनुहरी फसल⨀

मानवता की­जीवन ∀म स ेहसँ ेिदशाएँ।

हम जसैा बोएँग,े वसैा ही पाएँग।े



 

‘वसधुा’ का पयाᘀयवाची श㐀 द ह­ै

प簄ृ琄ी

सधुा

सयूᘀ

वसदुवे

Correct Answer :­प簄ृ琄ी 

7)

Question Stimulus :­

िनဂ茠िल ကखत काက䀀ाशं को ानपवूᘀक पढ़कर उसके नीच ेिदय ेगय ेबက�िवक�옴ी 　�娀刀 नो ंम⨀ सही िवक�옴 का चयन कर⨀।

 

र 　�सिवनी ह ैवसधुा, अब समझ सका ⬀।ँ

इसम⨀ सက�ी समता के दान ेबोन ेह⼀Ā,

इसम⨀ जन की ⠀मता के दान ेबोन ेह⼀Ā,

इसम⨀ मानव ममता के दान ेबोन ेह⼀Ā,

िजसस ेउगल सक⨀ िफर धलू सनुहरी फसल⨀

मानवता की­जीवन ∀म स ेहसँ ेिदशाएँ।

हम जसैा बोएँग,े वसैा ही पाएँग।े

 

किव धरती म⨀ ሀᄀा बोन ेके िलए कहता ह ै?

बीज बोन ेके िलए

र बोन ेके िलए

समता, ममता और ⠀मता बोन ेके िलए

मोती के दान ेबोन ेके िलए

Correct Answer :­समता, ममता और ⠀मता बोन ेके िलए 

8)

Question Stimulus :­



िनဂ茠िल ကखत काက䀀ाशं को ानपवूᘀक पढ़कर उसके नीच ेिदय ेगय ेबက�िवक�옴ी 　�娀刀 नो ंम⨀ सही िवक�옴 का चयन
कर⨀।

 

र 　�सिवनी ह ैवसधुा, अब समझ सका ⬀।ँ

इसम⨀ सက�ी समता के दान ेबोन ेह⼀Ā,

इसम⨀ जन की ⠀मता के दान ेबोन ेह⼀Ā,

इसम⨀ मानव ममता के दान ेबोन ेह⼀Ā,

िजसस ेउगल सक⨀ िफर धलू सनुहरी फसल⨀

मानवता की­जीवन ∀म स ेहसँ ेिदशाएँ।

हम जसैा बोएँग,े वसैा ही पाएँग।े

 

‘सनुहरी फसल⨀’ िकस ेकहा गया ह?ै

मानवता को

दानवता को

ममता को

∀म को

Correct Answer :­मानवता को 

9)

Question Stimulus :­

िनဂ茠िल ကखत काက䀀ाशं को ानपवूᘀक पढ़कर उसके नीच ेिदय ेगय ेबက�िवक�옴ी 　�娀刀 नो ंम⨀ सही िवक�옴 का चयन कर⨀।

 

र 　�सिवनी ह ैवसधुा, अब समझ सका ⬀।ँ

इसम⨀ सက�ी समता के दान ेबोन ेह⼀Ā,

इसम⨀ जन की ⠀मता के दान ेबोन ेह⼀Ā,

इसम⨀ मानव ममता के दान ेबोन ेह⼀Ā,

िजसस ेउगल सक⨀ िफर धलू सनुहरी फसल⨀

मानवता की­जीवन ∀म स ेहसँ ेिदशाएँ।

हम जसैा बोएँग,े वसैा ही पाएँग।े



 

िदशाएँ कब 　�स退က होगंी?

जब सनुहली फसल⨀ लहलहाएँगी

जब मानव ∀म करेगा

जब सवᘀ　� मानवता की भावना က䀀ा縤Ā होगी

जब धरती र उगलगेी।

Correct Answer :­जब मानव ∀म करेगा 

10)

Question Stimulus :­

िनဂ茠िल ကखत काက䀀ाशं को ानपवूᘀक पढ़कर उसके नीच ेिदय ेगय ेबက�िवक�옴ी 　�娀刀 नो ंम⨀ सही िवक�옴 का चयन कर⨀।

 

र 　�सिवनी ह ैवसधुा, अब समझ सका ⬀।ँ

इसम⨀ सက�ी समता के दान ेबोन ेह⼀Ā,

इसम⨀ जन की ⠀मता के दान ेबोन ेह⼀Ā,

इसम⨀ मानव ममता के दान ेबोन ेह⼀Ā,

िजसस ेउगल सक⨀ िफर धलू सनुहरी फसल⨀

मानवता की­जीवन ∀म स ेहसँ ेिदशाएँ।

हम जसैा बोएँग,े वसैा ही पाएँग।े

 

किव न ेवसधुा को ሀᄀा कहकर पकुारा ह­ै

रािग̀र

र　�सिवनी

रगभाᘀ

राकर

Correct Answer :­र　�सिवनी 

11)

Question Stimulus :­



कमल का पयाᘀयवाची समहू होगा­

पकंज, सरोज, राजीव

अबंजु, मयकं, िहमाशंु

पकंज, शिश, इदंु

पकंज, सरोज, शिश

Correct Answer :­पकंज, सरोज, राजीव 

12)

Question Stimulus :­

वाሀᄀ के अगं कौन­कौन स ेह⼀Ā ?

उЀ娀े刀 य­िवधये

यो⌀Ȁता, आका⠀ंा, आसि瘂渂

पद쀀ကम, अ က툢Āित

सरल,िम∀ और सयंᄀुԀ वाሀᄀ

Correct Answer :­उЀ娀े刀 य­िवधये 

13)

Question Stimulus :­

िनဂ茠िल ကखत म⨀ स ेअက䀀यीभाव समास का एक उदाहरण कौन­सा ह ै?

लने­दने

सက�न

िचड़ीमार

परो⠀

Correct Answer :­परो⠀ 

14)

Question Stimulus :­

िनဂ茠 िवक�옴ो ंम⨀ िवलोम का चयन करत ेက�ए ̀रᄀԀ 蠀舀थान की पतूᘀ कीिजए।

“ईက䀀र က䀀ᄀԀ भी ह ैऔर .......भी, सगणु भी ह ैऔर िनगᘀुण भी ”



अिभက䀀ᄀԀ

अက䀀ᄀԀ

अ　�कट

िन⬀ĀᄀԀ

Correct Answer :­अက䀀ᄀԀ 

15)

Question Stimulus :­

जब िकसी की अ젃쀃तं 　�शसंा के िलए कोई बात बက�त बढा­चढ़ाकर अथवा लोकसीमा का उ�घन करके कहा जाए तब
वहा.ँ............अलकंार होता ह।ै

अित娀刀 यो ကᄀԀ

अ退䀀ो ကᄀԀ

က䀀ितरेक

 ̀ािंतमान

Correct Answer :­अित娀刀 यो ကᄀԀ 

16)

Question Stimulus :­

िनဂ茠 प ंကᄀԀयो ंम⨀ कौन­सा अलकंार ह?ै

निह ंपराग निह ंमधरु मध,ु नही ंिवकास यिह काल।

अली कली ही त⨀ बँो, आग ेकौन हवाल।

अनवय

က�पक

उ␃ᰃ⠀ेा

अ退䀀ो ကᄀԀ

Correct Answer :­अ退䀀ो ကᄀԀ 

17)

Question Stimulus :­



िनဂ茠 प ंကᄀԀयो ंम⨀ कौन­सा छंद ह ै?

कागा काको धन हरै, कोयल काको दये।

मीठे वचन सनुाय कर, जग अपनो कर लये॥

सोरठा

उ�ाला

दोहा

ह̀रगीितका

Correct Answer :­दोहा 

18)

Question Stimulus :­

.................... छंद के 　�젃쀃के चरण म⨀ 16 मा　�ाएं होती ह⼀Ā। यह सममाि　�क छंद ह⼀Ā। 　�थम और िကကतीय चरणो ंम⨀ तकु समान होता
ह।ै

दोहा

चौपाई

सोरठा

उ�ाला

Correct Answer :­चौपाई 

19)

Question Stimulus :­

िनဂ茠 प ंကᄀԀयो ंम⨀ कौन­सा रस ह?ै

सदंसेौ ंदवेकी सो किहयो।

हौ ंतो धाय ितहारे सतु की दया करत ही रिहयो।।

तमुतौ ंटवे जािनितिह ंहो तऊ मोिह किह आव।ै

　�ात उठत मरेो लाल लड़तैिेह ंमाखन रोटी भाव।ै।

शातं रस

कက�ण रस

∀ृंगार रस



वाⰄ␄젵뀵 रस

Correct Answer :­वाⰄ␄젵뀵 रस 

20)

Question Stimulus :­

वीभⰄ␄ रस का 蠀舀थाई भाव................ह।ै

िव둑Āय

जगु ुကा

िनव⤀Ȁद

रित

Correct Answer :­जगु ुကा 

21)

Question Stimulus :­

मᄀुԀक काက䀀 के िकतन ेभदे होत ेह⼀Ā?

चार

तीन

दो

पाचं

Correct Answer :­दो 

22)

Question Stimulus :­

‘कृ䳪�ायन’’ महाकाက䀀 के रिचयता ह⼀Ā­

तलुसीदास

हजारी　�साद िကကवदेी

पिंडत ကကा̀रका 　�साद िम∀

इनम⨀ स ेकोई नहीं



Correct Answer :­पिंडत ကကा̀रका 　�साद िम∀ 

23)

Question Stimulus :­

शЀु वाሀᄀ का चयन कीिजए­

बाण बड़ा उपयोगी श塏䁏 ह।ै

लाठी बड़ा उपयोगी अ塏䁏 ह।ै

िचिड़या गा रही ह।ै

इनम⨀ स ेकोई नहीं

Correct Answer :­इनम⨀ स ेकोई नही ं

24)

Question Stimulus :­

िनဂ茠 िल ကखत 6 वाሀᄀाशंो ंम⨀ स े　�थम व अिंतम िनि㠸Āत ह⼀Ā, शषे को उिचत 쀀ကम म⨀ က䀀व က蠀舀थत कीिजए।

(1)­ गीता म⨀ कहा गया ह ैिक   

(य)­ कोई एक ही उ退䀀⨀ जान पाता ह।ै

(र)­ तो बက�त होत ेह⼀Ā िकᨎЎ ुउनम⨀ से

(ल)­ ሀᄀोिंक भौितक िवषयो ंस ेिवरत ही

(व)­ भगवान को जानन ेके इ☀कु

(6)­ भगवान के 　�ित आसᄀԀ हो सकता ह।ै

य र ल व

र य ल व

व र य ल

य व ल र

Correct Answer :­व र य ल 

25)

Question Stimulus :­

िनဂ茠 िल ကखत 6 वाሀᄀाशंो ंम⨀ स े　�थम व अिंतम िनि㠸Āत ह⼀Ā, शषे को उिचत 쀀ကम म⨀ က䀀व က蠀舀थत कीिजए।



(1)­ अितिथ   

(य)­ िनि㠸Āत रािश लकेर  

(र)­ स ेभोजन तथा रहन ेकी

(ल)­ उस ेपइेगं ग怏ेꓠ बनान ेका

(व)­ सिुवधा के बदले

(6)­ ̀रवाज सवᘀ　�थम ℀ ासं म⨀ शကु� က�आ था

य र ल व

र व य ल

व य ल र

य व ल र

Correct Answer :­र व य ल 

26)

Question Stimulus :­

अशЀु वाሀᄀाशं का चयन कीिजए।

멒ꉒत　ं�ता­संఀाम म⨀ 　�ाण गवँान ेवाले

वीरो ंके स䀉茠ान म⨀ सरकार ने

एक िदन के सावᘀजिनक अवकाश की घोषणा की ह।ै

कोई 　�िुट नहीं

Correct Answer :­कोई 　�िुट नही ं

27)

Question Stimulus :­

“Supervision” का िहदंी पयाᘀय ह­ै

पयᘀव⠀ेक

पयᘀव⠀ेण

िनवतᘀन

अिध쀀ကमण



Correct Answer :­पयᘀव⠀ेण 

28)

Question Stimulus :­

िनဂ茠 वाሀᄀाशं के िलए एक श㐀 द का चयन कीिजए ?

“िव退ကालय म⨀ इ ကက쌠हान लने ेवाला”

िवशषेἀ

परी⠀क

अापक

सम툢Āयक

Correct Answer :­परी⠀क 

29)

Question Stimulus :­

‘‘अ　�मये’’ श㐀 द के िलए वाሀᄀाशं का चयन कीिजए।

जो 　�माण स ेिसЀ न हो

जो 　�मे के यो⌀Ȁ न हो

जो नापा न जा सके

इनम⨀ स ेकोई नहीं

Correct Answer :­जो 　�माण स ेिसЀ न हो 

30)

Question Stimulus :­

“इ∀ं पर िवजय 　�ा縤Ā करन ेवाला” ­ वाሀᄀाशं के िलए एक शက� बताइय।े

इ∀ंराज

इिं∀यजीत

इ∀ंजीत

इनम⨀ स ेकोई नहीं



Correct Answer :­इ∀ंजीत 

31)

Question Stimulus :­

‘‘हमारे सिैनक इतन ेवीर ह⼀Ā िक म젃ृ쀃 ुके सामन ेभी नही ंघबरात’े’ म⨀ कौन­सा वाሀᄀ ह।ै

साधारण वाሀᄀ

सयंᄀुԀ वाሀᄀ

िम∀ वाሀᄀ

इनम⨀ स ेकोई नहीं

Correct Answer :­िम∀ वाሀᄀ 

32)

Question Stimulus :­

िनဂ茠 साधारण वाሀᄀ को िम∀ वाሀᄀ म⨀ बदिलए­

“श ကᄀԀशाली की चलती ह।ै”

वह श ကᄀԀशाली ह ैऔर उसी की चलती ह।ै

जो श ကᄀԀशाली होता ह,ै उसी की चलती ह।ै

उपरोᄀԀ दोनों

इनम⨀ स ेकोई नहीं

Correct Answer :­जो श ကᄀԀशाली होता ह,ै उसी की चलती ह।ै 

33)

Question Stimulus :­

अनकेाथᘀ श㐀 द ‘‘आब’’ के गलत िवक�옴 का चयन कीिजए­

पानी

चमक

सखी

छिव



Correct Answer :­सखी 

34)

Question Stimulus :­

अनकेाथᘀ श㐀 द ‘‘अ⠀’’ के सही िवक�옴 का चयन कीिजए­

धरुी

अ⠀त

चावल

इनम⨀ स ेकोई नहीं

Correct Answer :­धरुी 

35)

Question Stimulus :­

यह ሀᄀा जीवन ह ैिक आठो ंपहर ननू तले लकड़ी जटुान ेम⨀ ही लग ेह⼀Ā। लगातार महेनत, सतत ्सघंषᘀ। न सⰄ␄गं का अवकाश, न
अपनो ंके साथ िमल बठैन ेका समय न 　�कृित का आनदं लने ेका अवसर न 　�भ­ुिचतंन। उलट,े पटे पालन ेकी िचतंा, िजस पटे के
िलए झठू, धोखा और लड़ाई झगड़ा तक करत ेहो।ं

उपयᘀुᄀԀ ग退ကाशं का स⠀ंपेण कीिजए­

ऐसा जीवन तो िवडबंना ह ैिजसके िलए िदन­रात लड़ना पड़।े

कोयल होय न उजली सौ मन साबनु लाये

चदंन िवष က䀀ापत नही ंिलपट ेरहत भजुगं

चार िदन सखुद चादंनी और िफर अधंकार अἀात

Correct Answer :­ऐसा जीवन तो िवडबंना ह ैिजसके िलए िदन­रात लड़ना पड़।े 

36)

Question Stimulus :­

‘‘एक पथं दो काज ’’ का अथᘀ ह­ै

अनके कायᘀ करना

कायᘀ कर⨀ या न कर⨀, सोचना

एक साथ दो लाभ

एक साथ दो पद ఀहण करना



Correct Answer :­एक साथ दो लाभ 

37)

Question Stimulus :­

लोको ကᄀԀ होती ह­ै

एक က䀀थᘀ उ ကᄀԀ

एक साथᘀक सက�णूᘀ वाሀᄀ

एक वाሀᄀाशं

इनम⨀ स ेकोई नहीं

Correct Answer :­एक साथᘀक सက�णूᘀ वाሀᄀ 

38)

Question Stimulus :­

‘‘िवपि瘂渂 के समय थोड़ी­सी सहायता भी बड़ी होती ह’ै’ इस भाव की က䀀जंक प ंကᄀԀ ह­ै

चार िदन की चादँनी िफर अधँरेी रात

आम के आम गठुिलयो ंके दाम

चपुड़ी और दो­दो

डूबत ेको ितनके का सहारा

Correct Answer :­डूबत ेको ितनके का सहारा 

39)

Question Stimulus :­

‘‘जठूा­झठूा’’ श㐀 द­यⰀु के सही अथᘀ­भदे का चयन कीिजए­

अस젃쀃वादी­नजर

उ က☀က怀 भोजन­अस젃쀃वादी

सदाचार पЀित­स젃쀃वादी

इनम⨀ स ेकोई नहीं

Correct Answer :­उ က☀က怀 भोजन­अस젃쀃वादी 

40)



40)

Question Stimulus :­

‘‘धन­धना’’ श㐀 द­यⰀु के सही अथᘀ­भदे का चयन कीिजए­

सက�ि瘂渂­ध쁋ृĀ

सयूᘀ­　�ीतम

लहर­सက�ि瘂渂

सက�ि瘂渂­　�ीतम

Correct Answer :­सက�ि瘂渂­　�ीतम 

41)

Question Stimulus :­

मदृवुाणी म⨀ कौन­सा समास ह­ै

तᐃఃကु�ष

िကကगु

कमᘀधारय

ကကကंက

Correct Answer :­कमᘀधारय 

42)

Question Stimulus :­

शातं रस का 蠀舀 थायी भाव က  या ह?ै

उⰄ␄ाह

जगु⤋ुⴀ सा

िव蠀舀 मय

िनव⤀Ȁद

Correct Answer :­िनव⤀Ȁद 

43)

Question Stimulus :­



“चलउे िनशाचर कटकु अपारा, चतरुंिगनी अनी बက� धारा।

िविविध भािँत बाहन रथ जाना, िबपलु बरन पताक ࠍḍज नाना॥“

उपरोᄀԀ प ंကᄀԀ िकस छंद का उदाहरण ह?ै

रोला

सोरठा

चौपाई

दोहा

Correct Answer :­चौपाई 

44)

Question Stimulus :­

‘सिंध’ शက� का सिंध िव☀दे होगा­

सम+धी

सम+िध

सम+्िध

सम+्धी

Correct Answer :­सम+्िध 

45)

Question Stimulus :­

िनဂ茠िल ကखत म⨀ स ेकौन सा शက� က䀀जंन सिंध का नही ंह?ै

वागीश

िवधायक

उ�ास

अजᨎЎ

Correct Answer :­िवधायक 

46)

Question Stimulus :­



बက�त­थोड़ा’ म⨀ समास ह­ै

ကကᘀ簈 द

कमᘀधारय

अ䨀䈀 ययी भाव

त錄鈄 प⬀ुĀष

Correct Answer :­ကကᘀ簈 द 

47)

Question Stimulus :­

“वह घर पက�चँा तो मा ँराह दखे रही थी।“........  ह।ै

कतᘀृ वा 瀀 य

भाव वा 瀀 य

कमᘀ वा 瀀 य

इनम⨀ स ेकोई नहीं

Correct Answer :­कमᘀ वा 瀀 य 

48)

Question Stimulus :­

िनဂ茠 िवक�옴ो ंम⨀ स ेअशЀु वाሀᄀ का चयन कीिजए­

मरेा नाम मोहन है

िशकारी न ेउस पर गोली चलाई पर शरे बच िनकला

सामािजक कुरीितयो का एक मा　� कारण अἀान है

　�젃쀃के 　�ाणी को आ舃稃िनभᘀर होना चािहए

Correct Answer :­िशकारी न ेउस पर गोली चलाई पर शरे बच िनकला 

49)

Question Stimulus :­

“िसधंᘀु簈 सा िव蠀舀 ततृ और अथाह, एक िनवाᘀिसत का उ錄鈄 साह” म⨀ साधारण धमᘀ िकस श㐀 द को कह⨀ग?े



िसधंᘀु簈 सा

िव蠀舀 ततृ

अथाह

िव蠀舀 ततृ और अथाह

Correct Answer :­िव蠀舀 ततृ और अथाह 

50)

Question Stimulus :­

“आखँो ंम⨀ चबᘀ छाना” महुावरे का सही अथᘀ ह­ै

आखँ ेफूल जाना

घमဇꁀ डी होना

आखँ ेलाल पड़ जाना

आखँ ेअ 瀀 छी होना

Correct Answer :­घमဇꁀ डी होना 

51)

Question Stimulus :­

“मान न मान म ैतरेा महेमान” लोको ကᄀԀ का सही अथᘀ ह­ै

द쁋ुĀ के साथ द쁋ुĀतापणूᘀ က䀀वहार करना

जबरद᐀Āी गल ेपड़ना

अिन☀ापवूᘀक अितिथ सार करना

दूसरो ंपर अपन ेिवचार थोपना

Correct Answer :­जबरद᐀Āी गल ेपड़ना 

52)

Question Stimulus :­

‘⠀’ वणᘀ िकसके अᨎЎगᘀत आती ह?ै

मलू 멒ꉒर



घोष वणᘀ

सयंᄀुԀ वणᘀ

तालက䀀

Correct Answer :­सयंᄀुԀ वणᘀ 

53)

Question Stimulus :­

‘प’ वगᘀ की ࠍḍिनयो ंका उက�रण 蠀舀थान ह­ै

ओ稀爀 �

कं �

द젃ं쀃

दᨎЎो稀爀 �

Correct Answer :­ओ稀爀 � 

54)

Question Stimulus :­

एक स ेअिधक उपसग � स ेबना श㐀 द ह­ै

अनाचार

अ錄鈄 याचार

अ　�錄鈄 य⠀

उက  त सभी

Correct Answer :­उက  त सभी 

55)

Question Stimulus :­

‘　�ितमिूतᘀ’ म⨀ उपसगᘀ ह­ै

　�

　�ित



पर

परा

Correct Answer :­　�ित 

56)

Question Stimulus :­

‘िन∀ाल’ू म⨀ 　�젃쀃य ह­ै

लू

आलू

∀ालू

कचालू

Correct Answer :­आल ू

57)

Question Stimulus :­

िनဂ茠 म⨀ स ेिकस शက� म⨀ ‘आवा’ 　�젃쀃य नही ंह?ै

िदखावा

चढ़ावा

लावा

भलुावा

Correct Answer :­लावा 

58)

Question Stimulus :­

िनဂ茠 म⨀ स ेकौन सा शက� जाित वाचक सἀंा नही ंह?ै

बगलुा

लड़का

डाकू



आन怏䃠

Correct Answer :­आन怏䃠 

59)

Question Stimulus :­

िनဂ茠 समहू स ेसही शက� चनु कर िलख⨀­

िपजंडा

भिेड़या

सामथᘀ

सᄀԀी

Correct Answer :­भिेड़या 

60)

Question Stimulus :­

िनဂ茠 　�䘺Ā के शက�­यⰀु के सही अथᘀ­भदे का चयन कीिजए­

‘आက�त­आ⬀त’

यἀ­चढ़ावा

आमिं　�त­बलुाया

यἀ­आमिं　�त

बलुाया­म　ं�

Correct Answer :­यἀ­आमिं　�त 

61)

Question Stimulus :­

मरकत, जवाहर, मािणक य ेिनဂ茠 म⨀ स ेिकसके पयाᘀयवाची ह⼀Ā?

कंचन

ह̀रि　�या

चचंला

मिण



Correct Answer :­मिण 

62)

Question Stimulus :­

‘राजा’ का पयाᘀयवाची ह­ै

अवनीश

रंक

रानी

राम

Correct Answer :­अवनीश 

63)

Question Stimulus :­

िवलोम शက� का चयन कर ̀रᄀԀ 蠀舀थान भ̀रए­

आ舃稃ा ‘स⠀ूĀ’ ह,ै शरीर ..................... ह।ै

अ�帺Ā

蠀舀थलू

िनि㠸Āत

�쁋Āက䀀

Correct Answer :­蠀舀थलू 

64)

Question Stimulus :­

िनဂ茠 म⨀ स ेकौन सा एक यⰀु िवपरीताथᘀक नही ंह?ै

कमᘀ­अकमᘀ

ककᘀश­मधरु

कट­ुअि　�य

किठन­सरल



Correct Answer :­कट­ुअि　�य 

65)

Question Stimulus :­

िनဂ茠 म⨀ स ेतⰄ␄म चिुनए­

गाजर

गाहक

ग⬀ेँ

गतᘀ

Correct Answer :­गतᘀ 

66)

Question Stimulus :­

िनဂ茠 म⨀ स ेकौन सा शက� त渋Āव नही ंह?ै

गोमय

घोड़ा

चाैचं

ऊँट

Correct Answer :­गोमय 

67)

Question Stimulus :­

िहदंी भाषा की बोिलयो ंके वगᘀकरण के आधार पर छ瘂渂ीसगढ़ी बोली ह­ै

पवूᘀ िहदंी

पि㠸Āमी िहदंी

पहाड़ी िहदंी

राज蠀舀थानी

Correct Answer :­पवूᘀ िहदंी 

68)



68)

Question Stimulus :­

दवेनागरी िलिप का िवकास က�आ ह­ै

भोजपरुी

अवधी

∀ा橓呓ी

मागधी

Correct Answer :­∀ा橓呓ी 

69)

Question Stimulus :­

िहदंी............... िलिप म⨀ िलखी जाती ह।ै

दवेनागरी

रोमन

चीनी

खरोက怀ी

Correct Answer :­दवेनागरी 

70)

Question Stimulus :­

िहदंी को सवंधैािनक က�प स ेराजभाषा कब घोिषत िकया गया?

5 जनू 1919

14 िसतက�र 1949

14 िसतက�र 1939

11 िसतက�र 1949

Correct Answer :­14 िसतက�र 1949 

Topic:­ General Knowledge 
1)

Question Stimulus :­



Bull baiting (Jallikattu) is a traditional game in / “बलु बिैटगं” (ज�ीकटटू्) ­­­­­­­­­­­­­ का एक पारंप̀रक खले ह:ै

Kerala / केरल

Andhra Pradesh / आ ं̀　�दशे

Karnataka / कनाᘀटक

Tamil Nadu / तिमल नाडु

Correct Answer :­Tamil Nadu / तिमल नाड ु

2)

Question Stimulus :­

Match the following and select the correct answer from the codes given below: / िनဂ茠 को
िमलाएं और नीच ेिदए गए कोडो ंम⨀ स ेसही उ瘂渂र का चयन कर⨀:

    List­I                    List­II

1. Jharkhand              a. Kohima

2. Assam                   b. Bhubaneshwar

3. Odisha                   c. Dispur

4. Nagaland               d. Ranchi

    सिूच­I                      सिूच­II

1. झारखडं                    a. कोिहमा

2. असम                      b. भवुनကे䀀र

3. उड़ीसा                      c. िदसपरु

4. नागाल⼀Āड                    d. राचंी

1­d, 2­c, 3­b, 4­a

1­d, 2­c, 3­a, 4­b

1­c, 2­d, 3­b, 4­a

1­d, 2­b, 3­c, 4­a

Correct Answer :­1­d, 2­b, 3­c, 4­a 

3)

Question Stimulus :­



Which is the planet nearest to the sun? / सयूᘀ के िनकटतम कौन सा ఀह?

Venus / श쀀ुက

Jupiter / जिुपटर

Mars / मगंल

Mercury / बधु

Correct Answer :­Mercury / बधु 

4)

Question Stimulus :­

How many members are there in the SAARC? / SAARC म⨀  सद䙒Āो ंकी सကं�ा िकतनी होती
ह ै?

4

9

12

8

Correct Answer :­8 

5)

Question Stimulus :­

In computers, Windows is a type of ______________. / कं踦�टूर म⨀ िवडंोज़ एक 　�कार का _______ ह।ै

Software / सॉ退怀वयेर

Hardware / हाडᘀवयेर

Both / दोनों

None of these / इनम⨀ स ेकोई नहीं

Correct Answer :­Software / सॉ退怀वयेर 

6)

Question Stimulus :­



Yeasts are classified as members of ___. /  'खमीर' को ____के सद䙒Āो ंके က�प म⨀ वगᘀकृत
िकया गया ह।ै

Fungi / कवक

Bacteria / जीवाणु

Virus / वाइरस

Amoeba / अमीबा

Correct Answer :­Fungi / कवक 

7)

Question Stimulus :­

India's first atomic reactor was_________? / भारत का 　�थम परमाण ु̀रएက�र _________ था।

Zerlina / ज़रेिलना

Apsara / अपसरा

Kamini / कािमनी

Dhruva /  ̀वु

Correct Answer :­Apsara / अपसरा 

8)

Question Stimulus :­

The best coking coal is mostly obtained from : / सबस ेअ☀ा कोककारी कोयला मကु�तः
 यहा ँस े　�ा縤Ā होता ह:ै

Neyveli / नवेलेी

Raniganj / रानीगजं

Singrauli / िसगंरौली

Jharia / झ̀रया

Correct Answer :­Jharia / झ̀रया 

9)

Question Stimulus :­



Which is the capital city of Uttar Pradesh? उ瘂渂र 　�दशे की राजधानी ह?ै

Jhansi / झासंी

Lucknow / लखनऊ

Allahabad / इलहाबाद

Kanpur / कानपरु

Correct Answer :­Lucknow / लखनऊ 

10)

Question Stimulus :­

Krishna Raja Sagara dam is constructed on the river ________. / ________ नदी पर कृ䳪�ाराज सागर बाधं का
िनमाᘀण िकया गया ह।ै

Tunga / तुंगा

Kali / काली

Kaveri / कावरेी

Sharavati / शरावती

Correct Answer :­Kaveri / कावरेी 

11)

Question Stimulus :­

Moti Masjid is situated in which of the following cities? / मोती म ကကကद िनဂ茠 म⨀ स ेिकस शहर म⨀  က蠀舀थत ह?ै

Indore / इदंौर

Mathura / मथरुा

Agra / आगरा

Kochi / को ကက�

Correct Answer :­Agra / आगरा 

12)

Question Stimulus :­



Pench National Park is located in which State of India? / प⨀च रा쁋Āᘀीय उ退ကान भारत  के
िकस राḀᴀ म⨀  က蠀舀थत ह?ै

Uᜀ䀅ar Pradesh / उ瘂渂र 　�दशे

Madhya Pradesh / म 　�दशे

Chhaᜀ⠇sgarh / छ瘂渂ीसगढ़

Maharashtra / महारा쁋Āᘀ

Correct Answer :­Madhya Pradesh / म 　�दशे 

13)

Question Stimulus :­

Find the odd one out. /  िनဂ茠 म⨀ स ेिवषम चनु⨀।

Andaman and Nicobar Islands / अ老码मान और िनकोबार ကကीप समहू

Gujarat / गजुरात

Pondicherry / पािंडचरेी

Chandigarh /  चडंीगढ़

Correct Answer :­Gujarat / गजुरात 

14)

Question Stimulus :­

Sri Lanka is called as _____________? / ∀ीलकंा को ________कहा जाता ह?ै

Pearl of the West / पि㠸Āम का मोती

Pearl of the East / परूब का मोती

Pearl of the North / उ瘂渂र का मोती

None of the above / उपरोᄀԀ कोई नहीं

Correct Answer :­Pearl of the East / परूब का मोती 

15)

Question Stimulus :­



Which of the following countries is called as 'Land of the Midnight Sun' / इनम⨀ स ेिकस दशे को “ल⼀Āड आफ़
िमडन्ाइट सन” कहा जाता है

Belgium / ब ेက䀅यम

Germany / जमᘀनी

Norway / नाव⤀Ȁ

Greece / ఀीस

Correct Answer :­Norway / नाव⤀Ȁ 

16)

Question Stimulus :­

Laxmirani Majhi is associated with which sports? / ल⠀Āीरानी माझी िकस खले के साथ जड़ुी က�ई ह⼀Ā?

Boxing / म뀀ुेကबाज़ी

Pole Vault / बासँ कूद

Shooᜀ꼄ng / शिूटगं

Archery / तीरंदाजी

Correct Answer :­Archery / तीरंदाजी 

17)

Question Stimulus :­

__________ is the first Indian Test Captain to score a double century in Cricket outside India / __________
पहल ेभारतीय ट怏ेꓠ क縤Āान ह⼀Ā, िज退䀀ोनं ेभारत के बाहर ि쀀ကकेट म⨀ दोहरा शतक बनाया I

Rohit Sharma / रोिहत शमाᘀ

Virat Kohli / िवराट कोहली

Cheteshwar Pujara / चतेကे䀀र पजुारा

Rahul Dravid / राက�ल डᘀािवड

Correct Answer :­Virat Kohli / िवराट कोहली 

18)

Question Stimulus :­



Who won the women's doubles title at the 2015 Canada Open badminton tournament? / 2015 कनाडा ओपन
बडैिमटंन टूनाᘀम⨀ट म⨀, िवमကे䀀 डबल िख़ताब िकसन ेजीता था?

Jwala Gutta and Saina Nehwal / ἀाला ग✀ु␀ा और साइना नहेवाल

Jwala Gutta and Ashwini Ponnappa / ἀाला ग✀ु␀ा और अिက䀀नी पो退ကက怀ा

P V Sindhu and Saina Nehwal / पी वी िस退က ुऔर साइना नहेवाल

Saina Nehwal and Ashwini Ponnappa / साइना नहेवाल और अिက䀀नी पो退ကက怀ा

Correct Answer :­Jwala Gutta and Ashwini Ponnappa / ἀाला ग✀ु␀ा और अिက䀀नी पो退ကက怀ा 

19)

Question Stimulus :­

Who won Pro Kabaddi League 2016? / 　�ो कब✀␀ी लीग 2016 िकसन ेजीता?

Jaipur Pink Panthers / जयपरु िपकं प⼀Āथसᘀ

Patna Pirates / पटना पाइरेटस्

Telugu Titans / तलेगु ुटाइटက䀀

Puneri Paltan / पणुरेी पलटन

Correct Answer :­Patna Pirates / पटना पाइरेटस् 

20)

Question Stimulus :­

Sania Mirza ended her partnership with which tennis player in 2016? / अग᐀Ā, 2016 म⨀, सािनया िमज़ाᘀ न ेिकस
टिेनस  ကखलाड़ी के साथ अपनी साझदेारी ख़舃稃 करी ?

Angelique Kerber / एंजिलक़ केब⤀Ȁर

Martina Hingis / माटᘀना िहिंगस

Dominika Cibulkova / डोिमिनका िसबဂु挰ोवा

Ekaterina Makarova / एकटी̀रना माकतोवा

Correct Answer :­Martina Hingis / माटᘀना िहिंगस 

21)

Question Stimulus :­



The terms _______ and _______ describe upward and downward market
trends in financial markets respectively. / शက� ____और___  쀀ကमश: िव瘂渂ीय बाजारो ंम⨀
उतार और चढ़ाव की 　�विृ瘂渂 का वणᘀन करत ेह⼀Ā।

Bear market, bull market / बयेर मािकᘀट, बलु मािकᘀट

Bear market, bird market / बयेर मािकᘀट, बडᘀ मािकᘀट

Bull market, bear market / बलु मािकᘀट, बयेर मािकᘀट

Bird market, bull market / बडᘀ मािकᘀट, बलु मािकᘀट

Correct Answer :­Bull market, bear market / बलु मािकᘀट, बयेर मािकᘀट 

22)

Question Stimulus :­

Which among the following is NOT a Credit Rating agency in India? / िनဂ茠 म⨀ स ेकौन भारत म⨀ उधार­पा　�ता
िनधाᘀरण एज⨀सी नही ंह?ै

ONICRA

ICRA

CRISIL

SEBI

Correct Answer :­SEBI 

23)

Question Stimulus :­

Who is the present CEO of Google? / गगूल के वतᘀमान सीईओ कौन ह?ै

Sundar Pichai / सुंदर िपचाई

Tim Cook / िटम कुक

Mark Zuckerberg / माकᘀ जकरबगᘀ

Jan Koum / जनै कौम

Correct Answer :­Sundar Pichai / सुंदर िपचाई 

24)

Question Stimulus :­



Which among the following States is the largest producer of tobacco in India? / िनဂ茠िल ကखत राḀᴀो ंम⨀ से
कौन भारत म⨀ तबंाकू का सबस ेबड़ा उᐃఃादक ह?ै

Gujarat / गजुरात

Andhra Pradesh / आ ं̀　�दशे

Pondicherry / पािंडचरेी

Madhya Pradesh / म　�दशे

Correct Answer :­Andhra Pradesh / आ ं̀　�दशे 

25)

Question Stimulus :­

Which among the following country hosted the G­7 Summit in May, 2016/िनဂ茠 मेँ स ेकौनस ेदशे न ेमई ,2016 मेँ
G­7 िशखर स䀉茠लेन आयोिजत िकया

England / इगलडँ

China / चायना

Russia / रिशया

Japan / जापान

Correct Answer :­Japan / जापान 

26)

Question Stimulus :­

The theory of economic drain was propounded by / "इकोनॉिमक  डᘀेन"  का िसЀातं इनके
ကကारा 　�ितपािदत िकया गया था

Madan Mohan Malaviya / मदन मोहन मालवीय

Surendranath Banerjee / सरुे ကनाथ बनजᘀ

R.C.Dutt / आर.सी. द瘂渂

Dadabhai Naoroji / दादा भाई नौरोजी

Correct Answer :­Dadabhai Naoroji / दादा भाई नौरोजी 

27)

Question Stimulus :­



Find the odd one out / िवषम वाला चिुनए

Gulzarilal Nanda / गကु䀀ारीलाल नदंा

V. P. Singh / वी.पी िसहं

L. K. Advani / एल.के. अडवानी

I. K. Gujral / आई.के गजुराल

Correct Answer :­L. K. Advani / एल.के. अडवानी 

28)

Question Stimulus :­

Who played the role of Mahatma Gandhi in Richard Attenborough's famous
biopic ‘Gandhi’? / ̀रचडᘀ एटनबरो की मश⬀र िफ頵舵 'गाधंी' म⨀ महा舃稃ा गाधंी की भिूमका  िकसन ेिनभाई
थी ?

Ben Kingsley / बने िकं⌀Ȁले

Paresh Rawal / परेश रावल

Dino Morea / िडनो मो̀रया

Om Puri / ओम परुी

Correct Answer :­Ben Kingsley / बने िकं⌀Ȁल े

29)

Question Stimulus :­

Who said the famous words “Arise! Awake! and stop not until the goal is
reached”? / "उठो, जागो और तब तक मत ⬀Āको जब तक तကुꌰ⨀ लက� की 　�ा က縤Ā न हो" य े　�िसЀ शက�
िकसन े कह ेथे

Raja Ram Mohun Roy/ राजा राम मोहन राय

Dayanand Saraswati / दयान怏䃠 सर멒ꉒती

Annie Besant / एनी बसे⨀ट

Swami Vivekananda  / 멒ꉒामी िववकेान怏䃠

Correct Answer :­Swami Vivekananda  / 멒ꉒामी िववकेान怏䃠 

30)



Question Stimulus :­

Who was the first Indian women Lok Sabha speaker? / भारत की पहली मिहला
लोकसभा  अ⠀ कौन थी?ं

Sheila Dikshit / शीला िदि⠀त

Sushma Swaraj / सषुमा 멒ꉒराज

Meira Kumar / मीरा कुमार

Sumitra Mahajan / सिुम　�ा महाजन

Correct Answer :­Meira Kumar / मीरा कुमार 

31)

Question Stimulus :­

Indian who has won the Noble Prize in Physics / भारतीय िज退䀀ोनं ेभौितकी म⨀ नोबल परु칍ार जीता है

Dr. Vikram Sarabhai / डॉ िव쀀ကम साराभाई

Dr. J. C. Bose / डॉ ज.ेसी. बोस

Dr. C.V. Raman / डॉ सी.वी. रमन

None of the above / उपरोᄀԀ कोई नहीं

Correct Answer :­Dr. C.V. Raman / डॉ सी.वी. रमन 

32)

Question Stimulus :­

Which of the following States was a Protectorate of India in the past? / िनဂ茠 म⨀ से
कौन सा राḀᴀ पवूᘀ म⨀  भारत का सरंि⠀त राḀᴀ था ?

Delhi / िद�ी

Punjab / पजंाब

Pondicherry / पािंडचरेी

Sikkim / िस က뀀ကम

Correct Answer :­Sikkim / िस က뀀ကम 

33)



Question Stimulus :­

The present Lok Sabha is______ / वतᘀमान लोक सभा ह ै______

Thirteenth / तरेहवीं

Fourteenth / चौदहवीं

Sixteenth / सोलहवीं

Tenth / दसवीं

Correct Answer :­Sixteenth / सोलहवी ं

34)

Question Stimulus :­

The idea of Fundamental Rights was adopted from / िनဂ茠 म⨀ स ेिकसस ेमौिलक अिधकारो ंका िवचार
अपनाया गया था

South Africa / दि⠀ण अि℀ का

China / चीन

America / अमे̀रका

Pakistan / पािक᐀Āान

Correct Answer :­America / अमे̀रका 

35)

Question Stimulus :­

Who decides whether a bill is a ‘Money Bill’? / इसका िनणᘀय कौन करता ह ैिक िवधयेक एक 'धन िवधयेक' ह?ै

The Speaker of Lok Sabha / लोक सभा अ⠀

The President of India / भारत के रा쁋Āᘀपित

The Prime Minister / 　�धानम　ं�ी

Parliamentary Select Committee / ससंदीय 　�वर सिमित

Correct Answer :­The Speaker of Lok Sabha / लोक सभा अ⠀ 

36)

Question Stimulus :­



Which of these was virtually forgotten until 1818, when General Taylor, a British officer, rediscovered it? / जब
ि∀िटश अिधकारी, जनरल टलेर, न ेउसकी पनुः खोज की थी, तब 1818 तक इनम⨀ स ेिकस ेलगभग भलुाया जा चकुा था?

Taj Mahal / ताजमहल

Sanchi / साचँी

Nalanda / नालदंा

Uttar Pradesh /  उ瘂渂र 　�दशे

Correct Answer :­Sanchi / साचँी 

37)

Question Stimulus :­

Who among the following was popular as ‘Punjab Kesari’ / िनဂ茠 म⨀ स ेकौन ‘पजंाब केसरी’ के က�प म⨀
लोकि　�य थ?े

Lala Lajpat Rai / लाल लाजपत राय

Subhas Chandra Bose / सभुाष च∀ं बोस

Yuvaraj Singh / यवुराज िसहं

Sardar Vallbhbhai Patel / सरदार व�भभाई पटले

Correct Answer :­Lala Lajpat Rai / लाल लाजपत राय 

38)

Question Stimulus :­

Who among the following has been called the 'Napoleon of India'? / िनဂ茠िल ကखत म⨀ स ेिक退䀀⨀ “भारत का
नपेोिलयन” कहा जाता ह?ै

Samudragupta / सम∀ुग縤ुĀ

Harshavardhana / हषᘀवधᘀन

Chandragupta Maurya / च ကग縤ुĀ मौयᘀ

Ashoka / अशोका

Correct Answer :­Samudragupta / सम∀ुग縤ुĀ 

39)

Question Stimulus :­



Which of these took the longest to build? / इनम⨀ स ेिकसका िनमाᘀण सबस ेलबं ेसमय म⨀ က�आ?

Taj Mahal / ताज महल

Commonwealth Village / कॉमनवကे怀 गावँ

Hawa Mahal / हवा महल

Parliament House / ससंद भवन

Correct Answer :­Taj Mahal / ताज महल 

40)

Question Stimulus :­

India's former Test cricketer Deepak Shodhan passed away on ___________. / भारत के पवूᘀ ट怏ेꓠ ि쀀ကकेटर दीपक शोधन का
िनधन ____________ को က�आ।

16 May, 2016 / 16 मई, 2016

16 June, 2016 / 16 जनू, 2016

16 May, 2015 / 16 मई, 2015

16 July, 2016 / 16 जलुाई, 2016

Correct Answer :­16 May, 2016 / 16 मई, 2016 

41)

Question Stimulus :­

Reserve Bank of India issued  ______ coins to commemorate the occasion of
Dr. B. R. Ambedkar 125th birth anniversary. / डॉ बी.आर अက�डेकर की 125वी ंजयतंी को
मनान ेके उपल⠀ म⨀ भारतीय ̀रज़वᘀ ब⼀Āक न े______  के िस뀀က जारी िकए ह⼀Ā।

Rs 5/ 5 က�पए

Rs 10/ 10 က�पए   

Rs 100 / 100 က�पए  

Rs 200/ 200 က�पए

Correct Answer :­Rs 10/ 10 က�पए    

42)

Question Stimulus :­



The Vedanga consists of the__________ / वदेागं ______ स ेबन ेहोत ेह⼀Ā|

Kalp, Shiksha, Nirukta, Vyakaran, Chhanda, Jyotish / क�옴, िश⠀ा, िन⬀ĀᄀԀ, က䀀ाकरण, छंद, Ḁᴀोितष

Kalp, Shiksha, Brahman, Vyakaran, Chhanda, Jyotish / क�옴, िश⠀ा, ∀ा橓呓ण, က䀀ाकरण, छंद, Ḁᴀोितष

Kalp, Shiksha, Nirukta, Aranyak, Chhanda, Jyotish / क�옴, िश⠀ा, िन⬀ĀᄀԀ, अर혁츁क, छंद, Ḁᴀोितष

Kalp, Upanishad, Nirukta, Vyakaran, Chhanda / क�옴, उपिनषद, िन⬀ĀᄀԀ, က䀀ाकरण, छंद

Correct Answer :­Kalp, Shiksha, Nirukta, Vyakaran, Chhanda, Jyotish / क�옴, िश⠀ा, िन⬀ĀᄀԀ, က䀀ाकरण, छंद, Ḁᴀोितष 

43)

Question Stimulus :­

Which among the following was the winner of IIFA Award 2016 for Best Film / िनဂ茠 म⨀ स ेकौन सी उ쁋Ā
िफ़頵舵 IIFA परु칍ार 2016 म⨀ िवजतेा थी

Bajirao Mastani / बाजीराव म᐀Āानी

Tanu Weds Manu Returns /  तन ुवडेस् मन ु̀रटनᘀ

Bajrangi Bhaijaan / बजरँग़ी भाईजान

Piku / पीकू

Correct Answer :­Bajrangi Bhaijaan / बजरँग़ी भाईजान 

44)

Question Stimulus :­

Who is the first Indian woman to win an Olympic medal in Wrestling? / कु娀刀 ती म⨀ ओलिंपक मडेल जीतन ेवाली पहली
भारतीय मिहला कौन ह?ै

Harwant Kaur / हरवतं कौन

Sakshi Malik / सा⠀ी मिलक

Lalita Babar / लिलता बाबर

Karnam Malleshwari / कणᘀम म樅Ā ल娀े刀 वरी

Correct Answer :­Sakshi Malik / सा⠀ी मिलक 

45)

Question Stimulus :­



Who was appointed the Chief BREXIT Negotiator by the European Union? / यरूोिपयन यिूनयन ကကारा मु̀ य ∀ ेက⠀Āट
(BREXIT) वाताᘀकार िकस ेिनयကु  त िकया गया?

Tony Blair / टोनी 㐀 लयेर

Angela Merkel  / एंजलेा मके⤀Ȁल

Boris Johnson / बो̀रस जॉᘀ簈 सन

Michel Barnier / माइकल बिैनᘀयर

Correct Answer :­Michel Barnier / माइकल बिैनᘀयर 

46)

Question Stimulus :­

What is the theme for 2016 International Mother Earth Day? / अतरंाᘀ쁋Āᘀीय मा ँप簄ृ琄ी िदवस 2016 के िलए िवषय ሀᄀा ह?ै

Unite for tomorrow / कल के िलए एकजटु होना

Earth and its ecosystems / प簄ृ琄ी और उसकी पा̀र က蠀舀थितकी 　�णाली

Trees for the Earth / प簄ृ琄ी के िलए व⠀ृ

All of the above / उपरोᄀԀ सभी

Correct Answer :­Trees for the Earth / प簄ृ琄ी के िलए व⠀ृ 

47)

Question Stimulus :­

On which day is Kargil Vijay Diwas celebrated? / िकस िदन कारिगल िवजय िदवस मनाया जाता ह?ै

Jan 26th / जनवरी 26

June 26th / जनू 26

July 26th  / जलुाई 26

Sept 26th  / िसतက�र 26

Correct Answer :­July 26th  / जलुाई 26 

48)

Question Stimulus :­

/ म 　�दशे म⨀ िजलो ंकी सကं�ा   ह।ै



__________numbers of districts are there in Madhya Pradesh. / म 　�दशे म⨀ िजलो ंकी सကं�ा __________ ह।ै

48

51

52

55

Correct Answer :­51 

49)

Question Stimulus :­

‘Labour Day’ is celebrated on_________. / मज़दूर िदवस­­­­­­­­­­­­ को मनाया जाता ह?ै

30th April / 30 अ　�लै

1st May / 1 मई

15th May / 15 मई

1st June / 1 जनू

Correct Answer :­1st May / 1 मई 

50)

Question Stimulus :­

Who was accompanied by Dorji Lhatoo and Ang Dorji on a historical conquest? / ऐितहािसक जीत पर डोरजी लाटू
और अगं डोरजी के साथ कौन था?

Maharastra / महारा쁋Āᘀ

Andhra Pradesh / आ退　 　�दशे

Kerala / केरल

Karnataka / कनाᘀटक

Correct Answer :­Maharastra / महारा쁋Āᘀ 

51)

Question Stimulus :­

Which of the following number is divisible by 9? / िनဂ茠 म⨀ स ेकौन सी सကं�ा 9 स ेिवभाḀᴀ ह?ै



7899

1899

2089

3633

Correct Answer :­1899 

52)

Question Stimulus :­

Write the coefficient of r3   in    p 2 q5   r 3 /  p 2 q5   r 3 म⨀ r3 का गणुाकं िल ကखये

 

   p 2 q5  

p 2 

 q5 

Correct Answer :­   p 2 q5   

53)

Question Stimulus :­

The value of this polynomial ( ­8m 2 + 4m ­ 8) + (4m 2 ­ m ­ 7) when m = 9 is _________
/ जब m = 9  तो ( ­8m 2 + 4m ­ 8) + (4m 2 ­ m ­ 7) बက�पद का मान ह ै________

­312

+312

­321

+321

Correct Answer :­­312 

54)

Question Stimulus :­



The mean weight of 6 lemons is 32 gm. One of the lemons is spoiled and was removed. The mean was reduced by
2. Find the weight of the lemon removed? / 6 नीबंओु ंका मा वजन 32 ఀाम ह।ै एक नीबं ूखराब हो गया और िनकाल
िदया गया। मा 2 स ेघट गया। िनकाल ेगय ेनीबं ूका वजन िनकािलय?े

30gm / 30 ఀाम

36 gm / 36 ఀाम

38.5gm / 38.5 ఀाम

42 gm / 42 ఀाम

Correct Answer :­42 gm / 42 ఀाम 

55)

Question Stimulus :­

What is the supplement of 56 0 / 56 0 का सपंरूक ሀᄀा है

34 0

56 0

304 0

1240

Correct Answer :­1240 

56)

Question Stimulus :­

One of the equal angles of an isosceles triangle is 800. Find its third angle. /
समिကကबाက� ि　�भजु के बराबर कोणो ंम⨀ स ेएक कोण 800 ह।ै इसका तीसरा कोण ἀात कीिजय|े  

800

200

600

300

Correct Answer :­200 

57)

Question Stimulus :­



A parallelogram is represented by P (2, 6), Q (14, 6), R (20, 8) and S (8, 8).  If the origin
is shifted to the point of intersection of  its diagonals, then the coordinates of P is
_______  / एक समानातंर चतभुᘀुज को P (2, 6), Q (14, 6), R (20, 8) और S (8, 8) स ेदशाᘀया गया ह।ै यिद
मलू िबदं ुको इसके िवकण � के 　�ित☀देन िबदं ुपर िव蠀舀थािपत कर िदया जाता ह,ै तो P के िनद⤀Ȁशाकं ह⼀Ā_______

(­ 9, ­ 1)

(­ 2 , ­ 6)

(9, 1)

(13, 13)

Correct Answer :­(­ 9, ­ 1) 

58)

Question Stimulus :­

Area of a rectangular window is 420 sq ft.  One half of the window has 1cm2 grill, while
the other half has 3 cm2grill.  Then the ratio of the number of grills in the window is
_______________ / एक आयताकार  ကखड़की का ⠀　े�फल 420 वगᘀ फीट ह।ै  ကखड़की के एक आध ेिह큒 ेम⨀ 1समेी
वगᘀ की जाली ह,ै जबिक दूसरे आध ेिह큒 ेम⨀ 3 समेी वगᘀ की जाली ह।ै तो  ကखड़की म⨀ जािलयो ंकी सကं�ा का अनपुात
ह_ै__________

3 : 1

1 : 3

2 : 3

3 : 2

Correct Answer :­3 : 1 

59)

Question Stimulus :­

If the perimeter of a room is 44 meter and the height of the walls is 12 feet, the area of the four walls is equal to
________________. / यिद कमरे का प̀रमाप 44 मी ह ैऔर िदवारो ंकी ऊँचाई 12 फीट ह,ै चार दीवारो ंका
⠀　े�फल________________के बराबर ह।ै



2112sq:m / 2112 वगᘀ मी

56sq: m / 56 वगᘀ मी

528sq:m / 528 वगᘀ मी

264sq:m / 264 वगᘀ मी

Correct Answer :­528sq:m / 528 वगᘀ मी 

60)

Question Stimulus :­

A fruit seller sells a dozen bananas at the rate of Rs.72/ dozen. If his loss is 4% what must have been his cost price? /
एक फल बचेन ेवाला एक दजᘀन केल े72က�/ दजᘀन के दर पर बचेता ह।ै यिद उसकी हािन 4% ह ैतो उसकी लागत कीमत
ሀᄀा रही होगी?

Rs. 75 / 75 ⬀Āपये

Rs. 76 / 76 ⬀Āपये

Rs. 104 /  104 ⬀Āपये

Rs. 68  / 68 ⬀Āपये

Correct Answer :­Rs. 75 / 75 ⬀Āपय े

61)

Question Stimulus :­

SONAR makes use of / सोनार इसका उपयोग करता है

Ultrasonic waves / परा∀က䀀 तरंग⨀

Light waves / 　�काश तरंग⨀

X rays / ए⠀Ā िकरण⨀

Microwaves / स⠀ूĀ तरंग⨀

Correct Answer :­Ultrasonic waves / परा∀က䀀 तरंग⨀ 

62)

Question Stimulus :­



The electrical resisᜀ꼄vity of the material of a conductor depends on / चालक की सामఀी की िवद्युत 　�ितरोधकता इस पर
िनभᘀर करती है

its length / उसकी लက�ाई

its area of cross section / उसके अन　ु�蠀舀थ काट पर

its surface area / उसके पကृ怀ीय ⠀　े�फल

the nature of its material / उसकी सामఀी की 　�कृित पर

Correct Answer :­the nature of its material / उसकी सामఀी की 　�कृित पर 

63)

Question Stimulus :­

In the figure, the ray PO incident on mirror AB gets reflected along OQ. When
the mirror is tilted by 100 to the position A’B’, the ray PO gets reflected along
OQ’. The angle ᵲ� is / आकृित म⨀, दपᘀण AB पर आपितत िकरण  PO, OQ के साथ परावितᘀत होती ह।ै
जब दपᘀण 100 स े က蠀舀थित A’B’ पर झकुाया जाता ह,ै तो िकरण PO, OQ’ के साथ परावितᘀत हो जाती ह।ै
कोण ᵲ� है

50

100

150

200

Correct Answer :­200 

64)

Question Stimulus :­

Magnesium hydroxide, obtained when Magnesium oxide is dissolved in water is / मगैनीिशयम ऑ⠀Āाइड के
पानी म⨀ घलुन ेपर 　�ा縤Ā က�आ म⼀Āगनीिशयम हाइडᘀो⠀Āाइड है

A base / एक ⠀ार



An acid / एक अဍ

An indicator / एक सचूक

Neutral / उदासीन

Correct Answer :­A base / एक ⠀ार 

65)

Question Stimulus :­

The chemical name of quick lime (Chuna) is  / ᰄᐄ̀रत चनू े)चनूा (का रासायिनक नाम है

Calcium Hydroxide / कै က樅Āशयम हाइडᘀॉ⠀Āाइड

Calcium Oxide / कै က樅Āशयम ऑ⠀Āाइड

Calcium Carbonate / कै က樅Āशयम काब �नटे

Calcium Sulphate / कै က樅Āशयम सꍟ⍀ट

Correct Answer :­Calcium Oxide / कै က樅Āशयम ऑ⠀Āाइड 

66)

Question Stimulus :­

A strong acid known as the “King of Chemicals” is / वह 　�बल अ㠀옌 ल जो ‘रसायनो ंका राजा’ कहलाता है

Hydrochloric acid / हाइडᘀोက  लो̀रक अ㠀옌 ल

Sulphuric acid / स樅Ā ဂू̀रक अ㠀옌 ल

Nitric acid / नाइिटᘀक अ㠀옌 ल

Phosphoric acid / फॉ蠀舀 फो̀रक अ㠀옌 ल

Correct Answer :­Sulphuric acid / स樅Ā ဂू̀रक अ㠀옌 ल 

67)

Question Stimulus :­

How many strands is a normal DNA made of? / सामा退䀀 डीएनए िकतन ेसपंलूो ंस ेबना होता ह?ै

1

2



3

4

Correct Answer :­2 

68)

Question Stimulus :­

Which structure stores food in a dicot seed?  कौन सी/ सरंचना िကက बीज म⨀ भोजन का भडंार करती ह?ै

Cotyledons / कॉिटलीडन

Endosperm /  ̀णूपोष

Radicle / मलूाकंुर

Plumule  /　�ाकंुर 

Correct Answer :­Cotyledons / कॉिटलीडन 

69)

Question Stimulus :­

How many molecules  of ATP   can be produced  in the cytoplasm by the break down of 10
molecules of glucose? / कोिशका∀က䀀 म⨀ एटीपी के िकतन ेअण,ु ⌀Ȁकूोज़ के 10 अणओु ंके िवभाजन ကကारा उᐃః退က हो
सकत ेह⼀Ā?

30

40

10

20

Correct Answer :­20 

70)

Question Stimulus :­

Which is the Metabolic reaction involving Oxygen and Glucose? / इनम⨀ स ेकौन सी उपापचयी 　�िति쀀ကया ह ैिजसम⨀
ऑ⠀Āीजन और ⌀Ȁकूोज़ अतंिनᘀिहत ह?ै

Photosynthesis / 　�काश स桉ंĀषेण

Krebs Cycle / 쀀ကဍ䌐 च쀀က



Gycolysis / ⌀Ȁाईकोलाईिसस

Respiration  / က䀀सन  

Correct Answer :­Respiration  / က䀀सन   

71)

Question Stimulus :­

An ornament contains pure gold and copper in the ratio 1:9. What is the percentage of pure
gold in the ornament? / एक आभषूण म⨀ शЀु सोना एव ंताबंा 1:9 के अनपुात म⨀ ह।ै आभषूण म⨀ शЀु सोन ेका
　�ितशत ሀᄀा ह?ै

11.1%

51.1%

33.1%

90.1%

Correct Answer :­11.1% 

72)

Question Stimulus :­

The average salary of all employees in a factory is Rs 5000. The average salary of 12
engineers is Rs 7500 and the average of the rest is Rs 3500. What is the total number of
employees in the factory? / एक कारखान ेम⨀ सभी कमᘀचा̀रयो ंकी औसत आय 5000 က�पए ह।ै 12 इजंीिनयरो ंकी
औसत आय 7500 က�पए ह ैऔर बाकी लोगो ंकी औसत आय  6000 က�पए ह।ै कारखान ेम⨀ कमᘀचा̀रयो ंकी कुल सကं�ा
िकतनी ह?ै

30

32

35

38

Correct Answer :­32 

73)

Question Stimulus :­

The ratio of the ages of Suresh and Ramesh is 4 : 3. The sum of their ages is 21 years. The ratio of their ages after
6 years will be: / सरुेश और रमशे की आय ुका अनपुात 4 : 3 ह।ै उनकी आय ुका योग 21 वषᘀ ह।ै 6 साल बाद उनकी आयु
का अनपुात होगा:



3:5

5:3

5:6

6:5

Correct Answer :­6:5 

74)

Question Stimulus :­

The ages of Nelson and Michael are in the ratio of 3 : 5, after 9 years, the ratio of their ages will becomes 3 : 4, the
present age of Michael is: / ने�न और माइकल की आय ु3 : 5 के अनपुात म⨀ ह,ै 9 साल बाद, उनकी आय ुका अनपुात 3 :
4 हो जाएगा, वतᘀमान म⨀ माइकल की आय ुह:ै

12 years / 12 वषᘀ

15 years / 15 वषᘀ

18 years / 18 वषᘀ

20 years / 20 वषᘀ

Correct Answer :­15 years / 15 वषᘀ 

75)

Question Stimulus :­

6/9th of 81 is / 81 का 6/9वा ँह:ै 

38 

54   

64  

7

Correct Answer :­54    

76)

Question Stimulus :­



Five sixth of 600 is how much more than one fourth of 400? / 600 का पाचँ छठा, 400 के एक चौथाई स ेिकतना अिधक
ह?ै

300

400

500

600

Correct Answer :­400 

77)

Question Stimulus :­

In a 10 kg ghee pack, 60% is pure ghee and 40% is vanaspati. If 10 kg of pure ghee is added, then the percentage
of vanaspati is / एक 10 िकलो घी के पकै म⨀, 60% शЀु घी एव ं40% वन汐呐ित ह।ै यिद 10 िकलो शЀु घी जोड़ा
जाता ह,ै तब वन汐呐ित का 　�ितशत है

15%

25%

20%

30%

Correct Answer :­

78)

Question Stimulus :­

Fill in the missing alphabets  / ल縤ुĀ अ⠀र भ̀रए

__bbaa__bbb__a__

b, a, a, a

a, b, b, b

a, b, a, b

b, a, b, a

Correct Answer :­b, a, a, a 

79)



Question Stimulus :­

36% of 200 is / 200 का 36% ह:ै

72

82

98

68

Correct Answer :­72 

80)

Question Stimulus :­

Which one of the following four addresses is NOT EXACTLY the same as the one given
below? / िनဂ茠 चार पतो ंम⨀ स ेकौन सा नीच ेिदय ेगय ेपत ेके एकदम समान नही ंह?ै

 

Western Carolina Paddlers

E­Mail: bell@unca.edu

PO Box 8541

Asheville, North Carolina 28814

(704) 258­8806

 

(i)     Western Carolina Paddlers

E­Mail: bell@unca.edu

PO Box 8541

Asheville, North Carolina 28814

(704) 258­8806

 

(ii)    Western Carolina Paddlers

E­Mail: bell@unca.edu

PO Box 8541

Ashaville, North Carolina 28814



(704) 258­8886

 

(iii)   Western Carolina Paddlers

E­Mail: bell@unca.edu

PO Box 8541

Asheville, North Carolina 28814

(704) 258­8806

 

(iv)   Western Carolina Paddlers

E­Mail: bell@unca.edu

PO Box 8541

Asheville, North Carolina 28814

(704) 258­8806

i

ii

iii

iv

Correct Answer :­ii 

81)

Question Stimulus :­

Which one of the following four addresses is NOT EXACTLY the same as the one
given below? / िनဂ茠 चार पतो ंम⨀ स ेकौन सा एक नीच ेिदय ेगय ेपत ेके एकदम समान नही ंह?ै

 

Four Corners River Sports & Kayak School

PO Box 379

Durango, Colorado 81302

(800) 426­7637

 



 

(i)         Four Corners River Sports & Kayak School

            PO Box 379

            Durango, Colorado 81302

            (800) 426­7637

 

(ii)        Four Corners River Sports & Kayak School

            PO Box 379

            Durango, Colorado 81302

            (800) 426­7637

 

(iii)       Four Corners River Sports & Kayak School

            PO Box 379

            Durango, Colorado 81802

            (800) 426­7637

 

(iv)       Four Corners River Sports & Kayak School

            PO Box 379

            Durango, Colorado 81302

            (800) 426­7637

i

ii

iii

iv

Correct Answer :­iii 

82)

Question Stimulus :­



A train shuttles between stations A and B, and stops at 5 intermediate stations for 5 mins each. Assume that the
stations are at equal intervals of 10 km, and the train is moving at a speed of 50 kmph, how long will it take to
reach B? / एक रेलगाड़ी 怏ꓠशेन A और B के बीच म⨀ चलती ह ैतथा बीच म⨀ आन ेवाल े5 怏ꓠशेनो ंपर 　�젃쀃के पर रेलगाड़ी 5 िमनट के
िलए က�कती ह।ै मान लीिजए की 怏ꓠशेन 10 िकमी के समान अतंर पर ह⼀Ā एव ंरेलगाड़ी 50 िकमी 　�ितघटंा की गित स ेचल रही ह,ै तो उसे
B तक पက�चँन ेम⨀ िकतना समय लगगेा?

85 min / 85 िमनट

97 min/ 97 िमनट

60 min / 60 िमनट

72 min/ 72 िमनट

Correct Answer :­97 min/ 97 िमनट 

83)

Question Stimulus :­

A person bought a motor bike at the cost of Rs.55000 after one year he sold it for Rs.44000. What is his loss
percentage? / एक က䀀 ကᄀԀ न ेက�पय े55000 की कीमत पर एक मोटर बाइक खरीदी। एक वषᘀ के प㠸Āात उसन ेउस ेက�पय े44000
म⨀ बचे िदया। उसके नकुसान का 　�ितशत िकतना ह?ै

10 %

20 %

25 %

30 %

Correct Answer :­20 % 

84)

Question Stimulus :­

Find the next term in the series 3,5,9,17,33,_________ / ∀खंला म⨀ अगला पद ἀात कीिजए 3,5,9,17,33,____________

49

48

63

65

Correct Answer :­65 



85)

Question Stimulus :­

Find out the wrong term / गलत पद ἀात कीिजए

112,114,120,124,132,142,154

114

120

124

132

Correct Answer :­120 

86)

Question Stimulus :­

In a certain language ‘lik lomb lyns’ means  ‘that great poet’ and ‘vomb lomb
fomb’ means ‘god is great’. Then in that language the word ‘lomb’is used for: /
िकसी खास भाषा म⨀ ‘lik lomb lyns’ का मतलब ह ै‘that great poet’ और ‘vomb lomb fomb’
का मतलब ह ै‘god is great’। तो उस भाषा म⨀ शက� ‘lomb’ इसके िलए 　�योग होता ह:ै

poet

that

god

great

Correct Answer :­great 

87)

Question Stimulus :­

In the sequence shown below, which figure comes next? / नीच ेिदखाय ेगय े쀀ကम म⨀ अगली आकृित कौन सी होगी?



Correct Answer :­  

88)

Question Stimulus :­

Six individuals, A, B, C, D, E and F are in a park. B and D are the daughters of C’s father;

F is E’s sister; C is the only son of A’s uncle; and A and E are brothers. / छह लोग,

A,B,C, D, E और F एक मदैान म⨀ ह⼀Ā। B और D, C, के िपता की बिेटया ँह⼀Ā; F, E की बहन ह;ै C,

A के अकंल का इकलौता बटेा ह;ै और A और E भाई ह⼀Ā।

How is D related to A? / D, A स ेकैस ेसबंिंधत ह?ै

Cousin / चचरेी बहन

Brother / भाई

Son / बटेा

Uncle / अकंल



Correct Answer :­Cousin / चचरेी बहन 

89)

Question Stimulus :­

An individual, S is the sister of M and T is M’s son. Another individual, R is a doctor

employed abroad. / एक က䀀 ကᄀԀ, S, M की बहन ह ैऔर T, M का बटेा ह।ै एक दूसरा

က䀀 ကᄀԀ, R िवदशे म⨀ कायᘀरत डॉက�र ह।ै    

Statement: S is the aunt of T. / कथन: S, T की आटंी ह⼀Ā।

Is the above statement is correct? / ሀᄀा ऊपर वाला कथन सही ह?ै

Definitely true. / िनि㠸Āत က�प स ेस젃쀃।

Definitely not true. / िनि㠸Āत က�प स ेस젃쀃 नही।ं

Possible but not certain. / सभंव लिेकन िनि㠸Āत नही।ं

They are not blood relaᜀ꼄ves./ व ेखनू के सबंधंी नही ंह⼀Ā।

Correct Answer :­Definitely true. / िनि㠸Āत က�प स ेस젃쀃। 

90)

Question Stimulus :­

A is the brother of B. B is the brother of C and C is the husband of D. C is the
father of P. How is D related to P? / A, B का भाई ह।ै B, C का भाई ह ैऔर C, D का पित ह।ै
C, P का िपता ह।ै D, P स ेकैस ेसबंिंधत ह?ै

Daughter / बटेी

Daughter­in­law / बက�

Mother / माता

Sister / बहन

Correct Answer :­Mother / माता 

91)

Question Stimulus :­

Which of the following is the mirror image of COFFEE? / िनဂ茠 म⨀ स ेकौन सा COFFEE का दपᘀण 　�ितिबက� ह?ै



Correct Answer :­  

92)

Question Stimulus :­

In the following question the first word has certain relationship with the second
word. If the third word has to have the similar relationship with the fourth
word, the fourth word will be: / िनဂ茠 　�䘺Ā म⨀, पहल ेशက� का दूसरे शက� के साथ  िकसी 　�कार से
कोई सबंधं ह।ै यिद तीसरे शက� का चौथ ेशက� के साथ उसी 　�कार का सबंधं होना चािहए, तो चौथा शက� होगा:

Square : Four :: Decagon: ? / वगᘀ : चार :: दशभजु : ?

Six / छह

Eight / आठ

Ten / दस

Twelve / बारह

Correct Answer :­Ten / दस 

93)

Question Stimulus :­

In how many different arrangements can 5 men and 5 women sit around a table so that no two women sit
together? / एक मज़े के आसपास 5 पကु�षो ंएव ं5 मिहलाओ ंको इस तरह स ेबठैान ेके िलए िक दो मिहलाएं साथ न बठै⨀, िकतन ेिभ退က
　�कार की က䀀व蠀舀थाएं की जा सकती ह⼀Ā?

2880

2520

5040

None of these / इनम⨀ स ेकोई नहीं



Correct Answer :­2880 

94)

Question Stimulus :­

A man started walking towards the sunset. He walks for 5 km and turns right. He walks
for 3 km, then turns left and walks for 3 km, and then again turns left and walks for 3
km. Finally, he turns left, walks for 6 km and stops.

What is the distance between his starting and stopping point? / एक आदमी सयूाᘀ᐀Ā की ओर चल रहा ह।ै वह 5
िकमी चलता ह ैऔर दाय⨀ मड़ुता ह।ै वह 3 िकमी चलता ह,ै िफर बाय⨀ मड़ुता ह ैऔर 3 िकमी चलता ह,ै और िफरस ेबाय⨀
मड़ुता ह ैऔर 3 िकमी चलता ह।ै अतं म⨀, वह बाय⨀ मड़ुता ह,ै 6 िकमी चलता ह ैऔर ⬀Āकता ह।ै 　�ारंभ और अिंतम िबदं ुके
बीच की दूरी ሀᄀा ह?ै

4 km

2 km

3 km

1 km

Correct Answer :­2 km 

95)

Question Stimulus :­

Bhaskar lives in a house that has the main door facing east. He moves out from the backside of his house and walks
straight for 50 m. He then turns right and walks 50 m again. Finally, he turns towards left and reaches a park after
walking 25 m. Find out in which direction is Bhaskar from the starting point. / भा칍र ऐस ेघर म⨀ रहता ह ैिजसम⨀ मကु�
ကကार का मखु परूब की ओर ह।ै वह घर की पीछे के िह큒 ेस ेबाहर आता ह ैऔर 50मी सीधा चलता ह।ै िफर वह दाय⨀ मड़ुता है
और पनु: 50मी चलता ह।ै अतं म⨀, वह बायी ंओर मड़ुता ह ैऔर 25मी चलन ेके बाद मदैान म⨀ पက�चँता ह।ै पता लगाइय ेिक
　�ारंभ िबदं ुस ेभा칍र कौन सी िदशा म⨀ ह।ै

north­east / उ瘂渂र­परूब

north­west / उ瘂渂र­पि㠸Āम

north­west / उ瘂渂र­पि㠸Āम

south / दि⠀ण

Correct Answer :­north­west / उ瘂渂र­पि㠸Āम 

96)

Question Stimulus :­



Select the statement, which is the logical equivalent to the given statement. / वह कथन चिुनये
जो तकᘀ की � ကĀ स ेिदय ेगय ेकथन के समान ह:ै

“Jill is not a boy, and Jack is not a girl.” / “िजल एक लड़का नही ंह,ै और जकै एक लड़की नही ंह।ै”

Jill is not a boy or Jack is not a girl. / िजल एक लड़का नही ंह ैया जकै एक लड़की नही ंह।ै

It is not true that Jill is a boy and Jack is a girl. / यह स젃쀃 नही ंह ैिक िजल एक लड़का ह ैऔर जकै एक लड़की ह।ै

It is not true that Jill is a boy or Jack is a girl. / यह स젃쀃 नही ंह ैिक िजल एक लड़का ह ैया जकै एक लड़की ह।ै

None of these / इनम⨀ स ेकोई नहीं

Correct Answer :­It is not true that Jill is a boy or Jack is a girl. / यह स젃쀃 नही ंह ैिक िजल एक लड़का ह ैया जकै
एक लड़की ह।ै 

97)

Question Stimulus :­

Select the statement, which is the logical equivalent to the given statement. / वह कथन चिुनये
जो तकᘀ की � ကĀ स ेिदय ेगय ेकथन के समान ह:ै

“It is not true that Jim is playing golf or Mary is playing tennis.” / “यह स젃쀃 नही ंह ैिक िजम गोꍟ⍀
खले रहा ह ैया मरेी टिेनस खले रही ह।ै”

Jim is not playing golf or Mary is playing tennis. / िजम गोꍟ⍀ नही ंखले रहा ह ैया मरेी टिेनस खले रही ह।ै

Jim is playing golf and Mary is not playing tennis. / िजम गोꍟ⍀ खले रहा ह ैऔर मरेी टिेनस नही ंखले रही ह।ै

If Jim is not playing golf, then Mary is not playing tennis. / यिद िजम गोꍟ⍀ नही ंखले रहा ह,ै तो मरेी टिेनस नहीं
खले रही ह।ै

Jim is not playing golf and Mary is not playing tennis. / िजम गोꍟ⍀ नही ंखले रहा ह ैऔर मरेी टिेनस नही ंखले
रही ह।ै

Correct Answer :­Jim is not playing golf and Mary is not playing tennis. / िजम गोꍟ⍀ नही ंखले रहा ह ैऔर मरेी
टिेनस नही ंखले रही ह।ै 

98)

Question Stimulus :­

Select the option that is true about the Statements and Conclusions given: / वह िवक�옴 चिुनये
जो िदय ेगय ेकथनो ंऔर िन鉋Āष � के बारे म⨀ सही ह:ै

Statements: / कथन:

Some threads are candles. / कुछ धाग⨀ मोက�ि瘂渂या ँह⼀Ā।

All candles are guards. / सभी मोက�ि瘂渂या ँर⠀क ह⼀Ā।



 

Conclusions: / िन鉋Āषᘀ:

I. Some threads are guards. / कुछ धाग⨀ र⠀क ह।ै

II. All candles are threads. / सभी मोက�ि瘂渂या ँधाग⨀ ह⼀Ā।

Only conclusion I follows / केवल िन鉋Āषᘀ I िनकलता है

Only conclusion II follows / केवल िन鉋Āषᘀ II िनकलता है

Both conclusion I and II follows / िन鉋Āषᘀ I और II दोनो ंिनकलत ेह⼀Ā

None of the conclusion I and II follows / िन鉋Āषᘀ I और II म⨀ स ेकोई भी नही ंिनकलता है

Correct Answer :­Only conclusion I follows / केवल िन鉋Āषᘀ I िनकलता ह ै

99)

Question Stimulus :­

Select the option that is true about the Statements and Conclusions given: / वह िवक�옴 चिुनये
जो िदय ेगय ेकथनो ंऔर िन鉋Āष � के बारे म⨀ सही ह:ै

Statements: / कथन:

All novels are typists. / सभी उप退䀀ास टाइिप怏ꓠ ह⼀Ā।

Some novels are not boxes. / कुछ उप退䀀ास ब⠀Ā ेनही ंह⼀Ā।

Conclusions: / िन鉋Āषᘀ:

I. Some typists are not boxes / कुछ टाइिप怏ꓠ ब⠀Ā ेनही ंह⼀Ā।

II. All boxes are typists. / सभी ब⠀Ā ेटाइिप怏ꓠ ह⼀Ā।

Only conclusion I follows / केवल िन鉋Āषᘀ I िनकलता है

Only conclusion II follows / केवल िन鉋Āषᘀ II िनकलता है

Both conclusion I and II follows / िन鉋Āषᘀ I और II दोनो ंिनकलत ेह⼀Ā

None of the conclusion I and II follows / िन鉋Āषᘀ I और II म⨀ स ेकोई भी नही ंिनकलता है

Correct Answer :­Only conclusion I follows / केवल िन鉋Āषᘀ I िनकलता ह ै

100)

Question Stimulus :­



Select the option that is true about the Statements and Conclusions given: / वह िवक�옴 चिुनये
जो िदय ेगय ेकथनो ंऔर िन鉋Āष � के बारे म⨀ सही ह:ै

 

Statements: / कथन:

 

All trolleys are daughters. / सभी टᘀॉिलया ँबिेटया ँह⼀Ā।

Some windows are trolleys. / कुछ  ကखड़िकया ँटᘀॉिलया ँह⼀Ā।

 

Conclusions: / िन鉋Āषᘀ:

I. All windows are daughters. / सभी  ကखड़िकया ँबिेटया ँह⼀Ā।

II. Some daughters are windows. / कुछ बिेटया ँ ကखड़िकया ँह⼀Ā।

Only conclusion I follows / केवल िन鉋Āषᘀ I िनकलता है

Only conclusion II follows / केवल िन鉋Āषᘀ II िनकलता है

Both conclusion I and II follows / िन鉋Āषᘀ I और II दोनो ंिनकलत ेह⼀Ā

None of the conclusion I and II follows / िन鉋Āषᘀ I और II म⨀ स ेकोई भी नही ंिनकलता है

Correct Answer :­Only conclusion II follows / केवल िन鉋Āषᘀ II िनकलता ह ै


